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Topic:- GP_Set5_A

1 The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table. answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Gils
enrolled (Out of 3000) enrolled (OQut of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 29%
I H. 1-5

firifea Ao W 2020-21 % 3RA fremem & wa ffiw St T R, T, Reed, T
3R zEafien § faenfd= % T w e 3| e 4 fafes Seamsenat § 1750 sEsT @ 3w
3000 Forenfs=t =1 AR g 81 aifer € g 3TERS % SR W UYA W, 1-5 % S S ;

it =t TR T
foraTFe amifeRa faenidt = ufawg (%) | g gmnet = gfawa (%)
(3000 7 /) (1750 § ®)

GRtE ] 16% 14%
g 21% 28%
lEEEAL 14% 16%
T 24% 20%
seqfeey 25% 22%

What is the approximate percentage (%) of boys in the school?

(1) 42%
(3) 34%

(2) 28%
(4) 50%

fremes & wt % afie wfee (%) §

(1) 42%
(3)  34%

(2) 28%
(4) B80%

[Question ID = 4849][Question Description = Q01_GP_22NOV_S1_SHAAN_Shift1]

1. 1 [Option ID = 18859]
2. 2 [Option ID = 18860]
3. 3 [Option ID = 18861]
4. 4 [Option ID = 18862]

2) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Giuls
enrolled (Out of 53000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
T s o 400 ONos
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Handic;aft

20%

22%

T H. 1-5

firifiea Ao W 2020-21 % 3RA frenem & wa Al et T R, T, Reed, T
3R zEafyen § fEnfd= % T w e 3| e 4 fafes Seampenat § 1750 sEsT @l 3w
3000 Ferenfs=i =1 AR 5o 81 aife € UET 3TERS H YR W UYT W, 1-5 F S S ;

it =t fraTeTTaR T
IERIETain amifeRa faeniat = ufawg (%) | AvERg SR %1 gfawe (%)
(3000 # /) (1750 & @)

RtE ] 16% 14%
g 21% 28%
IEEEAL 14% 16%
T 24% 20%
seqfEey 25% 22%

How many boys are enrolled in Singing and Handicraft taken together?

(1) 485
(3) 420

(2) B05
(4) 585

A R TEleT § T ®4 4 e o amitea 27

(1) 485
(3) 420

() 505
(4 585

[Question ID = 4850][Question Description = Q02_GP_22NOV_51_SHAAN_Shift1]

1. 1 [Option ID = 18863]
2. 2 [Option ID = 18864]
3. 3 [Option ID = 18865]
4. 4 [Option ID = 18866

3) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School during
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the questions 1-5:

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Giuls
enrolled (Out of 53000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%
I H. 1-5

firifea anfet W 2020-21 % 3R frenem & wa ffw et T R, T, REed, 79
3R zEatyen § fenfd= % T w g 3| e 9 fafes Geampenat § 1750 sEsTt whEa 3w
3000 Ferenf=i =1 AR 3o 21 Afe € U 3TFRS F YR W UTA W, 1-5 F S S ;

i 1 TR T
ToraTFe iR faenidmt = ufawa (%) | Amiesa gmnet = gfawa (%)
(3000 7 /) (1750 & ®)

RRtE ] 16% 14%
= 21% 28%
IEFEAL 14% 16%
T 24% 20%
=raterey R0 990,
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What is the total number of girls envolled in Swimming and Drawing taken together?

(1) 505 (2) 515
(3) 595 (4) 535

Jueht TR Femerl o gas =9 A A faft grme = e 27

(1) 505 (2) 515
(3)  52b (4) 535

[Question ID = 4851][Question Description = Q03_GP_22NOV_51_SHAAN_Shift1]

1.

1

[Option ID = 18867]
2

[Option ID = 18868]

i3

[Option ID = 18869]
4

[Option ID = 18870]

4 The following table embodies the details about the enrollment of students in five different

activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School durng
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%

T A, 1-5

Frenfwa @i o 2020-21 % XA frerem ¥ ww fofim Sremt T S, meE, R, T
IR weaferey o foenfe & Tmiwa w1 guid 2| fraem 9 ffaw Searsamat #1750 sonert wfEm Fo
3000 f3Rmf¥=t =1 TH 590 2| AT | a0 STHS B MUK WUTA |, 1-5 F FH I ¢

et =1 ToramrereTaa i
PRiETi] iR ferenféit = ufawa (%) | TmifRa sEnet = ufawa (%)
(3000 ¥ #) (1750 & @)

aht 16% 14%
T 21% 28%
lepeail 14% 16%
T 24% 20%
TEqEey 25% 22%

The number of girls enrolled in Dancing forms what percent (%) of the total number of
students in the School? (Round-off to two digits)?

(1) 9.32% (2) 10.67%
(3) 11.67% (4) 14.67%

Icd ® AHifha aEne i g fawea & faelE B pe gen @ e slova (%) 7 (S@E e |
quifeh S 9) 7

(1) 9.32% (Z) 10.67%
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(3) 11.67% (4) 14.67%

[Question ID = 4852][Question Description = Q04_GP_22NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 18871]
2. 2 [Option ID = 18872]
3, 3 [Option ID = 18873]
4, 4 [Option ID = 18874]

%) The following table embodies the details about the enrollment of students in five different
activities namely Swimming, Singing. Drawing. Dancing and Handicraft in a School durng
the session 2020-21. A total number of 3000 students including 1750 girls have been enrolled
In various activities in the school. Based on the data in the table, answer the questions 1-5 :

Activity-wise Enrollment of Students

Activity Percentage (%) of students | Percentage (%) of Girls
enrolled (Out of 3000) enrolled (Out of 1750)
Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%

T H. 1-5

forifira anfeR W 2020-21 % 3RA frenem & wa Al et T R, T, Reewd, T
SR zEafaed # faenfi=i % AmiE B enid 2| frmem 4 fafes Seamsenat #1750 SEnet wE 3w
3000 FErenfiE 1 Ja ol B a1erR § TgY 3RS % YR W UYA W, 1-5 % S S

it =1 TR A
foraTFe AR faenidmt = ufawa (%) | Amiera gmnet = gfawa (%)
(3000 7 /) (1750 & ®)

GRtE ] 16% 14%
g 21% 28%
IEFEAL 14% 16%
T 24% 20%
srqfErey 25% 22%

What 1s the ratio of the number of girls enrolled 1n Swimming to the number of boys enrolled

1 Swimming?
(1) 59 : 49 2y 23:29
(3 33:43 (4) 49:47

bt 1 ArifeRd NS IR IET 1 AW F 27

(1) 59 : 40 (2) 23:29

(3) 33:43 (4) 49:47

[Question ID = 4853][Question Description = Q05_GP_22N0V_51_SHAAN_Shift1]
. 1 [Option ID = 18875]
2 [Option ID = 18876]
. 3 [Option ID = 18877]
4 [Option ID = 18878]

e it R

Topic:- GP_Seth_B
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1) Which of the following is designated as key behaviour of effectiveness of teaching as evident from researches?

(1) Using student ideas and contribution (2) Structuring
(3) Teacher task-orientation {4) Teacher affect
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HTAGH! |, THTET T2 o1 W SHEgR TR JET T g ¢

(1) FrrfE % B ok aiem = suEm
2) AT
(3)  Tegen whmi- srfinpadior

(4)  Toers g

[Question ID = 4854][Question Description = Q06_GP_22NOV_S1_SHAAN_Shift1]
1.1

[Option ID = 18879]
2. 2

[Option ID = 18880]
3.3

[Option ID = 18881]
4. 4

[Option ID = 18882]

2) Ildentify the indirect teaching strategies from the following list :

(A) Gaining attention, informing the learner of the objective and presenting the stimulus material
(B) Concept building through examples and non-examples

(€) Explaining, exemplification and practice

(D) Problem based presentation with pair-share technique

(E) Encouraging students to use references from their own experiences

Choose the correct answer from the options given below :

(1) (B), (D) and (E) (2) (A), (B} and (C)
(3) (B), (C) and (D) (4) (C), (D) and (E)

Frenfea gt @ srera o FweEifEt =+ fafee Hifs

(A)  SATITHRN, STTWEERAl FE 2T TS S TS IR TR FE
(B) Sgreit R -G o "ieAn | SrEgron- i

(C) TEIEEF, AT AT 3R STeamd

(D) FoF-GioieH ahrp $ 1Y FEE-SETa Tghd

(B) foentii =i 506 o0 arg9al © 9o o % fore diemntza e

fr= oo 7o foreal 3 o 931 ST #1999 i -

1 B, D) (E)
@ (A B R (©C)
3) (B, (C) IR D)
@ (©). (D)3 (E)
[Question ID = 4855][Question Description = Q07_GP_22N0V_51_SHAAN_Shift1]

Tl

[Option ID = 18883]
2. 2

[Option ID = 18884]
3.3

[Option ID = 18885]
4. 4

[Option ID = 18886]

3) Match List | with List 1l ;
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List | List Il

Modalities of Teaching Implementation

(A) Instruction {I) One way imposition of ideas from the teacher to the students
(B) Training (Il) Associative presentation of ideas from teacher to students

(C) Conditioning (lll) Disciplined drill conducted by teacher

(D) Indoctrination (IV) Active interchange of ideas between teacher and students
Choose the correct answer from the options given below :

(1) (A)-(ID), (B)-(), (C)-(IV), (D)-(IIN) (2) (A)-(1}, (B)-(I), (C)-ClI1}, (D)-(IV)
(3) (A)-(V), (B)-(lN), (C)-(1), (D)-(1) (4) (A)-(IM), (B)-(IV), (C)-(1}, (D)-(N)

-1 % =y -1 =1 e fifsm
g1 -

(A)  TETE () Toentd=i W fers % FeEm = e
ST

(B) i (I) Toers o faentemn = Fem =+ g g

(C) FeFeH (IIT) Torerh gry Sefera SO S7EamE

(D) HaARY (IV) ferenfeia aiit forers o sfter famd =1 afea
AGH-TEH

9 fau e ferewt 4 O T8 ST W = it

1) @)-aDh. (B)-(D. (C)-(1V), (D)-{II)
2y @1, (B)-dD). (O)-dID. (D)-(IV)

3y  A-IV). B)-IID). (C)-(1), (D)-(I)
4y (A1, (B)-IV). (C)-(D. (D)-(ID

[Question ID = 4856][Question Description = Q08_GP_22N0OY_51_SHAAN_Shift1]
1. 1 [Option ID = 18887]
2. 2 [Option ID = 18888]
3. 3 [Option ID = 18889
4. 4 [Option ID = 18890]

4) Given below are two statements :

Statement | : Computer based testing promotes objectivity in assessment processes.

Statement |l : Choice-based credit system in Indian Higher Education is a new entry,

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement |l are correct, (2) Both Statement | and Statement |l are incorrect,
(3) Statement | is correct but Statement Il is incorrect. (4) Statement | is incorrect but Statement Il is correct.

TRasmfems .

=97 (D) : Hoge-TEi WeAvr ¥ Seher qHeaTe # aegiHear i seEn e 2

=y (1) : ara ® 3= foren o faspen-snafig wise wonelt we 43 =awn 2

SURF YA % TS 1, T i T fewi § @ e S ST W 9 iR

(1) = (0) A I FH w2
@2 = (D) o I < e #
(3) A (I) wal &, dfeT %o (1) e 7
(4)  FwF (I) 7w 2, A F9 JD) w2

[Question ID = 4857][Question Description = Q09_GP_22N0V_S51_SHAAN_Shift1]
| 1. 1 [Option ID = 18891]
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| 2. 2 [Option ID = 18892]
3. 3 [Option ID = 18893]
4. 4 [Option ID = 18894]

%) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : Teaching support system whether traditional or modern is purportedly put in place for effecting economy and
ensuring quality in teaching-learning transactions.

Reason (R) : Learning outcomes in order to be congruent with stipulated instructional goals need scaffolds to begin with.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R} is the correct explanation of (A). (2) Both (A} and (R) are correct but (R} is
NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct, (4) (A) is not correct but (R) is correct,

= &1 e 5y e # ;s SAiERA (Assertion A) F w9 ® faifad 2 A g@u 3wk #Ww (Reason R) ®

-
A

ST (A) : e e vIett, RANGE SN SN, SHE Sevd SR F Uge BN ST
foraqor-saterms wissn & o = gHiTe 0 2

F (R) : foreror wfowl =1 el sFRTTom TE % SHET 99 % 190 T § UF ST
e 1 smaTEERa adt B

ST Bl B AT 8, W 150 0 fawedl § ¥ TeE STIRS S T 99 g

(1) (&) 3R @) A w8 F 3l (R). (&) i wdt e 2

@) (A) R ®) I FE E, T (R). (A) F A5 = @6 e

@) (AT g, aF (R) 9 T R

@ @eEA T O ® i
[Question ID = 4858][Question Description = Q10_GP_22N0V_S51_SHAAN_Shift1]
. 1 [Option ID = 18895]
2 [Option ID = 18896]

. 3 [Option ID = 18897]
. 4 [Option ID = 188%8]

bl B

6) In which method of research an independent variable is manipulated with an intent to observe concomitant changes in
dependent variable?

(1) ExPost Facto method (2) Case study method
(3) Descriptive survey method (4) Experimental method

tga = H el aiedH B oo ©, Fea sEgaE el § e w1 S 3R B S 27

(1)  FTEr vone (2) =ATE eI Yo
(8)  FAUFITERT HA&T9T SOl (4) TS ST

[Question ID = 4859][Question Description = Q11_GP_22NOV_51_SHAAN_Shift1]
. 1 [Option ID = 18899]
. 2 [Option ID = 18900]
. 3 [Option ID = 18301]
4 [Option 1D = 18%02]

oWk b2 o

7) Identify the features of empirico-inductive paradigm of research

(A) Research is concerned with the process rather than simply with outcomes or products
(B) Based on logical positivist philosophy which assumes a single objective reality

(C) Researchers are concerned with what are called ‘participant perspectives’

(D) Attempts to establish universal context free generalizations

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only {2) (B) and (C) only
(3} {C) and (D) only (4) (A) and (C) only

SAHYN 75 SigATYIEE ATHEATHS NiqaH i =eare i Figa Hi
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&)
(B)

Q)
(D)

FIEYH T HEY U1 § 2 7 7 95 IHomHE S14= Iog) |
a1 Teamael 599 d aufld S U SeyATeNs AnataeRdT Ht HEal ut snanhig 2
STEYTFHA Aa9el 9RweT % 9 ST B 2

01 FE g AT TG 1 T F 3

= fou o fompedl @ 9 wEE SRR ST W 99 HIET

(1)
(2
3
(4)

A (A) R (B)
e (B) 3R (C)
et (C) R (D)
Fa (A) 317 (C)

[Question ID = 4860][Question Description = Q12_GP_22ZNOV_51_SHAAN_Shift1]

oW R

1 [Option ID = 18903]
2 [Option ID = 18904]
3 [Option ID = 18905]
4 [Option ID = 18906

8) Match List | and List Il
List | List Il

Sampling Methods
(A) Simple Random Sampling

this

(B) Stratified Random Sampling
(C) Cluster Sampling
(D} Snowball sampling

Procedure involved
(I) The first member is used as an informant to identify other, The process goes on like

(Il) The units are chosen intact on the basis of their settings
{lll) The units are chosen from defined groups/levels randomly
(I¥) The units are chosen by giving equal and independent chance to each

Choose the correct answer from the options given below ;

(1) (A)-(1), (B)-(I), (C)-(IN), (D)-(IV)
(3) (A)-(l11), (B)-(IV), (C)-(), (D)-(Il}

g I % a1 g1 = firemm i
F=-1
gfeest womeht
(A)  TE= g afae
(B) wliha wrgfess wfoget
(C) ey ufaew
(D) wrEra afaed
i3 fow o faweat § ® w91 W = =59 Fifw
(1) (A)-(D). (B)-(I). (C)-(111}. (D)-dV)
@)  A)-aQV), B)-(II). (C)-(ID), (D)-(D
(3)  @-AID. B)-IV). (O-(D. D-ID
(4) (A)-D), (B)-(I). (C)-(IV), (D)-(I1I)

(Z) (A)-(IV}, (B)-(l1), (C}-(I1}, (D)-(D)
(4) (A)-(ll}, (B)-(), (C)-(I¥), (D)-(IIT)

F-11
wnfier = &

M) w99 de= W A W fHAd w9 g
YEATIEET b B § ST A SEr #| uE
wfsren g&ft e A et w2

(II) =il o7 <=9 ST OO H MR W
T9Ter T S 21

(1) w1 99 uhewnfm oggl/ei ¥
g w1 1 & o 2

(IV) THEA H T TAF H GAA IR =
ST &R 3R ST 2

[Question ID = 4861][Question Description = Q13_GP_22NOV_51_SHAAN_Shift1]

1.1

[Option ID = 18907]

2. 2

[Option ID = 18308)]

3 3

[Option ID = 18909]

4. 4

[Option ID = 18310]
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9) Given below are two statements :

Statement | ; Action Research is used primarily to improve a given situation by a practitioner.

Statement Il : Applied research is directed at exploring applicability of principles already established.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement |l are correct. (2) Both Statement | and Statement |l are incorrect.
(3) Statement | is correct but S5tatement Il is incorrect, (4) Statement | is incorrect but Statement |l is correct.

A = % few T g .

w7 (I) : ACTEFAT IERIT FTEIH B IR NG Yad Uiy 0 vagt &g Fa 2

F (D) : SR AT [-Tiue gl it THisaa 3679 F 1= H 57 3@ 79 2

ST B F s §, 9 v T Fwew § U o SUEE W W W e

(1)  =A (1) =ik I gt o 3
(2)  =2E (D) 3 ID T Ted B
(3)  =rE (D) d 2, afes e (1D Tad 2

(4) = (D) e 2, SfE % (D TE 2

[Question ID = 4862][Question Description = Q14_GP_22N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 18911]
2. 2 [Option ID = 18912]
3. 3 [Option ID = 18913]
4, 4 [Option ID = 18%14]

10) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.

Assertion (A) : A research thesis has to follow a prescribed format and style of referencing.
Reasons (R) : This ensures the observance of research ethics.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both {A) and (R) are correct but (R) is NOT the correct explanation of (A).
(3) (A) is correct but (R) is not correct.

(4) (A) is not correct but (R) is correct,

I @ 7o fig T ©F Afiwem (Assertion A) ¥ ¥ # fofaw & @ 380 39% FRW (Reason R) #

E‘Iﬁ:
stffEaT (A) Mag-Tsy A T faEd wew s wedtmm R uEm W sEmed wen
TS 2l

0 (R) TG WA @ SgEGH ¥ AR fifd w1 eruer gt o s )
IR FA T T ¥, A E e st § ¥ g SuTE ST @ 99 AT

Q) (AR ®) I G E R (R), (A) F 7 =

(2)  (A) 3 (R) 2 T E, S ®). (A) B = s w1 8
(3 (AT e, dF R) T T 2

@) (A =S FE g, dfe (R) T8t 2
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[Question ID = 4863][Question Description = Q15_GP_22NOV_51_SHAAN_Shift1]
154

[Option ID = 18915]
3ol

[Option ID = 18916]
3 3

[Option ID = 18917]
4. 4

[Option ID = 18318)]
11) Which of the following is an example of physical barrier to communication?

(1) Cultural disparity (2) Inattention
(3) Verbalism (4) Il health

ffafaa § % %9 99 i 9ifts s = SSrw a7

(1)  wrepfas T (2) FEuH
(3) TERW (4) SFEEE

[Question ID = 4864][Question Description = Q16_GP_22N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 18919]
2. 2 [Option ID = 18920]
3. 3 [Option ID = 18921]
4. 4 [Option ID = 18922]

12) When in a classroom communication, a teacher shows ability of creativity, correlation and analysis, it belongs to which

category of skills?

(1) Thinking skills (2) Expression skills
(3) Media utilization skills (4) Human skills

Fo GO H TOuE g geeerEal, TE-Tegd IR favemw 1 amar W owewE e el W A

HEeTal B 7

(1) T =me

(2  sAthouats How

(3)  wifen suEm =i

(4) g wme

[Question ID = 4865][Question Description = Q17_GP_22N0V_51_SHAAN_Shift1]
1 [Option ID = 18923]
2 [Option ID = 18924]
3 [Option ID = 18925]
4 [Option ID = 18926]

bl D

13) Why do we communicate?

(A) For social interaction.

{B) For happiness sake.

(C) For messages to be understood.

(D) For sharing of experience.

(E) For protection of traditions.

Choose the correct answer from the options given below :

(1) (A}, (C), (E)only (2} (B), (C), (D) only
(3) (A}, (C), (DY only  (4) (A), (B), (E) only

TR i SAETEEal T4 2 7
(A) =R s R ey

(B) v&aa §d
(C) @2 hi Tuwoliwar 2g
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(D) ¥ Gigl B 3G

() eqweli % w2y

= fow o frrent d 2 w1 SR w1 9uw Fifsm

(1)  Had (A), (©), (E)
2 % (B). (). (D)
(3  Fa (A), ©). (D)
4)  FEW(A). B), (B)

[Question ID = 4866][Question Description = Q18_GP_22N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 18927]
2. 2 [Option ID = 18928]
3. 3 [Option ID = 18929]
4, 4 [Option ID = 18330]

14) Match List | with List I

List | List 1

Types of communication Function served

(A) Mass communication (I) Corridor discussion

(B) Intrapersconal communication () Classroom Teaching

(C) Group communication (Ill) For communicates with oneself

(D) Interpersonal communication (IV) For mechanical message transmission

Choose the correct answer from the options given below :

(1) (A)-(V), (B)-(ND), (C)-(11), (D)-(I} (2) (A)-(1), (B)-(I), (C)-(ND), (D)-(IV)
(3) (A)-(I1), (B)-(NN), (C)-(IV), (D)-(I) (4) (A)-(ll), (B)-(lI}, (C)-(), (D)-(IV)

g1 % @y get-11 = fae fifom
LRI g1
HGR % TFR Fd T
(A) v TER (D) i ==t
(B) T3l §9R D) e foreqor
(©) TYE @R (IIT) = = /1Y W=IW =g
(D) FAIaRFF TR (IV) Wl W T &g
Arer faw T forpedl § W WE) ST A Hif

(1) A-AV). B)-dID, (C)-(I), D-T)
2 @-D. B-dI). ©)-1D). D)-AV)
(3)  (A-0D. B)-dID. (C)-V), M)-I)

(4) (A)-dID, (B)-AD, (O)-(0). (D)-AV)
[Question ID = 4867][Question Description = Q19_GP_22NOVY_S1_SHAAN_Shift1]
1.1

[Option ID = 18931]
1)

[Option ID = 18932]
3. 3

[Option ID = 18933]
4. 4

[Option ID = 18934]

15) Given below are two statements : One is labeled as Assertion A and the other is labeled as Reason R.
. Assertion (A) : A man pulls a loaded truck by his hair which becomes news,
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Reasons (R) : Unusual things make news called oddity and generate public interest.
In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A). (2) Both (A) and (R) are correct but (R) is
NOT the correct explanation of {(A).
(3) (A) is correct but (R) is not correct. (4) (A) is not correct but (R) is correct.

Tt @ e g e § ; wF AfFET (Assertion A) % w0 # faflad § 71 gHU 3u% FWW (Reason R) %

TH

=R (A) | ST IS oIfeh HUA STl W, WA <oh <l Wivdl § df 9§ WHTER S5 9wl 2

& (R) HGET e ATl % FRer SR 89 AR € ol aiwst w5 gee w8

STIRR FUAI % ST §, e foy T famedt © @ wed Sugwe SW W =a il

D) (AR (R) I T E IR (R), (A) F T e 2

@ (A) 3R R) A T T, T (R). (A) B /L = T R
@) @ E e, | R) gE TR

@ QTR TR, a9 ®) T2

[Question ID = 4868][Question Description = Q20_GP_22NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 18935]
2. 2 [Option ID = 18936]
3. 3 [Option ID = 18937]
4. 4 [Option ID = 18938)

16) Smita rode her scooty Northwards, then turned left and then again rode to her left 4 km. She found herself exactly 2
km West of her starting point, How far did she ride Northward initially?

(1)2km  (2) 4km

(3)5km  (4) 6 km

G ool TR § TR i Hit ot Tem FE % Iwa 9 gEl 3R T o gean 4 et T o R
37 9% o7 T g B 2 frafter afvom 4 2 9t swm w1 sen et fradter it et amn 6 7

(1) 2 frardix @) 4 Fraimier
(3) 5 fRaeT (4) 6 et

[Question ID = 4869][Question Description = Q21_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 18939]
2. 2 [Optien ID = 18940]
3. 3 [Option ID = 18941]
4. 4 [Option ID = 18942]

17) A 108 meter long train moving at a speed of 50 km/hr crosses a 112 meters long train coming from the opposite
direction in 6 seconds. The speed of the second train is :

(1) 48 km/hr (2) 54 km/hr

(3) 66 km/hr (4) 82 km/hr

50 Trandier afem it 1fa @ == @i 108 et ==t et Rl G @ an & 112 ofiex ==l et =i
6 TS TR F B gEd st f nfa w27

(1) 48 Frardiey/aa (2) 54 fredie /g
(3 66 Franfey/ax (4) 82 fereiet/ge

[Question ID = 4870][Question Description = Q22_GP_22NOV_S1_SHAAN_Shift1]
. 1 [Option ID = 18943
. 2 [Option ID = 18944
. 3 [Option ID = 18945]
4 [Option ID = 18946]

R
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18) If a 30 meter ladder is placed against a 15 metre wall such that it just reaches the top of the wall, the angle of
elevation of the wall is :

(1) 45° (2) 30°
(3) 60° (4) 50°

IR 30 Wi il Wt 15 Hiex i Fan & 389 TR T 9 G 9% daR F W B w5 wl, A GEn

3T T B
(1)  45° (2) 30°
(3)  60° (4) 50°

[Question ID = 4871][Question Description = Q23_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 18947]
2. 2 [Optien ID = 18948]
3. 3 [Optien ID = 18949]
4. 4 [Option ID = 18950]

19) The profit earned by selling a chair for Rs, 752 is 1.2 times the loss incurred when the same chair was sold for Rs, 400,
What is the cost price of the chair?

(1) Rs, 540 (2) Rs. 592
(3) Rs. 560 (4) Rs. 640

sr. fopelt eff =1 752/ - wa0 A s W aAfia ey et gl ft 400/ - e § A 18 fEh @ 29 aneh g

1.2 TR, o FH 1 G0 geF I E 7

(1) s40/- ¥4 (2) 592/-%¢

(3)  560/- ¥U (4) 640/- TUT

[Question ID = 4872][Question Description = Q24_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 18951]
2. 2 [Optien ID = 18952]
3. 3 [Option ID = 18953]
4. 4 [Option ID = 18954]

20) Three men, four women and six children can complete a work in seven days. A woman does double the work a man
does and a child does half the work a man does. How many women alone can complete this work in 7 days?

(1) 7 (2) 8
(3) 9 (4) 12

I 7o, =R wfeemd o 37 o= el %/ i ww T A U w31 TR o Al Yo WY " SR
FT FT 7 I T s g6 1 G § AT FH T o, qF el wfeemd 3w wm w7 fam | g

dRdt B ¢
(1) 7 2) 8
3 9 4) 12

[Question ID = 487 3][Question Description = Q25_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 18955]
2. 2 [Optien ID = 18956]
3. 3 [Optien ID = 18957]
4. 4 [Option ID = 18958]

21) Given below are two statements :

Statement I : According to Nyaya philosophy an argument proceeds only on those issues

that are completely unknown.

otatement 11 : According to Nyava philosophy an argument does not proceed on those

1ssues that are well established.
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In the hight of the above statements, Choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement IT are incorrect.

(3) Statement I 1s correct but Statement II 1s incorrect.

(4) Statement I 1s incorrect but Statement II 1s correct.
=t 3 o R e 2
F97 (1) : =T 39 T STIER, TH-fash waw 37 fet § g 2 S i o 2
T (1) : = 39 o SER, dH-faae 31 gt 0 7@ 2 S gedia B

SR FYA = T H, e faw e e A @ e Sug S F 99 i

(1)
(2)
3

(4)

o () 3R (D) 31 &t 3
Ho (I) 23 (ID) 21 e 8

%Y (1) T8 2, o wu9 (ID) o4 &

F3 (1) Tord 2, A = () 98 2

[Question ID = 4874][Question Description = Q26_GP_22N0OV_51_SHAAN_Shift1]

oW 2 =

22)

. 1 [Option ID = 18959]
2 [Option ID = 18960]
3 [Option ID = 18961]
. 4 [Option ID = 18962]

With reference to Nyaya philosophy. which of the following statements is true?

(1) The linga or the middle term 1s not the Karana or operative cause of inference.

(2) The middle term may be a thing of the present but not of the past or the future.

(3) The middle term can function in an inference when past or future.

(4) The middle term can lead to the conclusion apart from the knowledge of vyapti or
the universal relation between it and the major term.

=19 299 % ded A, F=ifeg 4 @ -7 %0 we R7

(1
(2)
(3
@

o s19E 3 0T YA A I U=l RO TE 2

2 A i Ty B wehe 8, fhg ga siven wfire w4

¥g 7 a1 i gH W SEAH § yE e

Sl 1o 39 SR Tie % sfie gol Gy & [ % fafen 3g Feafy q ugen @ R

[Question ID = 4875][Question Description = Q27_GP_22N0V_51_SHAAN_Shift1]

P bl B —

23)

. 1 [Option ID = 18963]
2 [Option ID = 18964]
. 3 [Option ID = 18965]
4 [Option ID = 18966]

Given below are two statements :

Statement I : Mimamsakas and Vedantins agree with the Naiyvavikas that the
syllogism consists of five members or propositions.

Statement II : Mimamsakas and Vedantins agree with the Naiyvavikas that the
syllogism is necessary only for pararthanumana or demonstrate inference
and not for svarthanumana or inference for oneself.

In the light of the above statements, Choose the most appropriate answer from the options

prepp
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{1) Both Statement I and Statement 11 are correct.
(2) Both Statement I and Statement II are incorrect.
(3 Statement I is correct but Statement II 1s incorrect.
{4) Statement I is incorrect but Statement 11 18 correct.
e o wu fw o 2
%97 (I) e #HN A2kl SR o WY 39 S 9T dgud @ e =IerE d uie gee sy
wa sty gt £
w7 (1) : Himizes 3T gl 3R S WY I A W GEHa & 6 ~AFae hael SUYEAN

FlT USR] S19AT % foie, 3tewTs B, = T wnaigem sver e & o)

ST 2 SN °, Ao 5 T fepeut o O geg 3w SO % 99 it

(1)
@)
(3)
(4

e (1) o (D) 3T Wl 2
%o (I) 3R (I1) 3Ft e &
e (1) T 2, SFF e (1D e 2
o (1) Td 3, PR e (D) v 2

[Question ID = 4876][Question Description = Q28_GP_22N0OV_51_SHAAN_Shift1]

1. 1 [Optio
2. 2 [Optio
3. 3 [Optio
4, 4 [Optio

n 1D = 18967)
n 1D = 18968]
n 1D = 18969
h ID = 18970]

24) Given below are two statements :

Statement | ;: A formal fallacy is one that may be identified through mere inspection of the form or structure of an

argument.
Statement Il : Formal fallacies are found only in deductive arguments that have identifiable forms.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true, (2) Both Statement | and Statement Il are false,
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.
f9 2w e g &
7 @) : ST 2o 92 ¢ o aeh—ared W ST TR % e i § i e
= T 2
= (II) Fitg=nfieh Zcars® shead fFTHACHE dh-aed | 9T A £ Faeeht Al stmeRieR
HT=A1 & |

IR FYE F ol °, W 5U e el B ® W ST S 99T A

(1)
2)
(3)

(4)

e (I) of (11) 391 oo &
e (1) 3 (ID) 1 215 B
*uA (1) Uea 2, AF FUT 39 2

T (1) 30 3, 9fF w97 (D) 93 2

[Question ID = 4877][Question Description = Q29_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Optien ID = 18971]
2. 2 [Optien ID = 18972]
3. 3 [Optien ID = 18973]
4. 4 [Option ID = 18974]

25) ‘““Whoever thrusts a knife into another person should be arrested. Surgeons thrust a knife into another person when

operating

. Therefore surgeons should be arrested’’.

Which fallacy is committed in the following argument?

prepp
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(1) Hasty generalization (2) Fallacy of accident
(3) Red Herring (4) Appeal to unqualified authority

T g of Rl =R W o T, 36 fawar e wm g wen-fafeees wioatEm % wE 9 o
safth W TR T A gl o, vea-Fatwers =t s fRn s i)

3T G- § -9 e g7

(1) sl gwefm
(2) WA B oA

(3) Ts R

(4) 3% wEEd w et

[Question ID = 4878][Question Description = Q30_GP_22NOV_51_SHAAN_Shift1]
1. 1 [Option ID = 18975]
2. 2 [Option ID = 18976]
3, 3 [Option ID = 18977]
4, 4 [Option ID = 18978]

26) The next number P in the sequence of binary numbers 0, 10, 100, 110, P ....., is :

(1) 111 (2) 1000
(3) 1010 (4) 1001

0.10. 100, 110, P ..... =i fi=r gemanl & ®9 & P s 7 fora a2 ?

(1) 111 (2) 1000

(3) 1010 (4) 1001

[Question ID = 4879][Question Description = Q31_GP_22N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 18979]
2. 2 [Option ID = 18980]
3. 3 [Option ID = 18981]
4, 4 [Option ID = 18982]

27) ldentify the correct order of following computer memory types ranked from slowest to fastest in terms of access time.
(A) Cache

(B) CDROM

(C) Hard Disk

(D) RAM

(E) Register

Choose the correct answer from the options given below :

(1) (), (B), (A), (D), (E) (2) (E), (A), (D), (C), (B)
(3) (B), (C), (D), (A), (E) (4) (D), (A), (E), (B), (C)

FURX % it AnHl weRrt H wed o) ¥ wed i % e T safem i

(A)  FW

B Hfsum
© = e
D W

(E) et

= fEe 7o TweT 0 € TRl I R 999 SN

(1)  (©. B, ). D), (E)
2 (E). A). D). (). (B)
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(3) (5). (L), (D). {4), (1)

@ D). Q. E.®). )

[Question ID = 4880][Question Description = Q32_GP_22N0V_51_SHAAN_Shift1]
. 1 [Option ID = 18983]
2 [Option ID = 18984]
. 3 [Option ID = 18985]
4 [Option 1D = 18%86]

e it B

28) Given below are two statements :

Statement | ; CPU executes software directly from secondary memory,

Statement Il : A software is termed as Open Source Software if it can be downloaded from the Internet.
In the light of the above statements, Choose the correct answer from the options given below :

(1) Both Statement | and Statement Il are true. (2) Both Statement | and Statement Il are false.
(3) Statement | is true but Statement Il is false. (4) Statement | is false but Statement Il is true.

49 & weH Bu T B .

F () : Hirfi fgdrres Tl ® Giveas F1 Teaed: HElf=a Fa 2
oA (ID) : % WiFeal T GId HTeaa Fecldl 2 (9 o3¢ ¥ SoTals 7641 ST 55|

I HUT T TS 1, A9 fou T e § 8 o 3T % 999 Hie

1) e (D) R AL < 9o 2
2w (1) S (D) gt e 2
(3) 24 () Ued 2, wiihd e 38T 2

(4) A () 319ca 8, S == (ID) 99 2

[Question ID = 4881][Question Description = Q33_GP_22NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 18987]
2. 2 [Option ID = 18988]
3. 3 [Option ID = 18989]
4. 4 [Option ID = 18990]

29) Which of the following statements about wikis are True?

(A) Wiki pages can be locked by moderators to prevent vandlism.

(B) Every change that is made to a wiki page is logged and can be viewed in a history list.
(€) A wiki is designed to allow people to collaborate easily.

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (B) and (C) only
(3) (A} and (C) only (4) (A), (B) and (C)

ffi S gdg d Fl9-—= 9 " GA £ 7

(&) Tt gBl = g T % fT AisiE 3R i S TR 2
B) bt ag o Fren o1 weis aitea sifrg PR o 2 otk su B ok A 3w o wwar R

(©) ot =1 arfirees @l =) s § weam <R aEufa g 2

fr fau T Gedl § © TF ST A 99 Fife

(1)  Fae (A) 3 (B)

(2)  aw (B) 3 (C)
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(3)  Faw (A) 3 (C)
@ (&), (B) 3 ()

[Question ID = 4882][Question Description = Q34_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 18991]
2. 2 [Option ID = 18992]
3. 3 [Option ID = 18993]
4. 4 [Option ID = 18994]

30) Match List | with List Il

List | List Il

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (I) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (Il) Store and access personal e-documents irrespective of physical location.
(C) Digilocker (lll) MOOCs for high-quality education anywhere and anytime,

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(ll1}, (B)-(1¥), (C)-(I1), (D)-(1) (2) (A)-(IV), (B)-(lIN), (C)-(1}, (D)-(N)
(3} (A)-(IV), (B)-(1IN), (C)-(1N), (D)-(1) (4) (A)-(I1), (B)-(1), (C)-(1I1}, (D)-(IV)

g1 & @ gefl-11 = frem Sifse
geit-1 .11

a) T ()  Sferr aafafomt, aen-amiemt, -t
2 Y T TUTEET I HZRT

(B) wHI ID siffer safcufa @ g, daftes
- TATEE W SR TR ITTE

(C) TEimmm A1) =wdf df-weft off s=waa fen = fag
RSt (qFE)

D) T (V) s e = foag Faps e Saa

et fa e fomet | @ wE I w1 =Ea hifeg

(1) @-dID, (B)-AV). (C)-(II). (D)D)
2)  (A)-OV). (B)-dID. (O)-(D, D)D)
(3)  (A)-0V), (B)-1I), (C)-(aL), M)-{d)
@  @-AD. (B)-@). (O)-(1ID). (D)-(IV)

[Question ID = 4883][Question Description = Q35_GP_22N0OV_S1_SHAAN_Shift1]
1. 1 [Option ID = 18995]
2. 2 [Option ID = 18996]
3. 3 [Option ID = 18997]
4. 4 [Option ID = 18998]

31) The waste component of waste categorized as ‘Trash’ consists of
(A) Paper, Cardboard cartons

(B} Animal wastes

(C) Industrial process wastes

(D) Vegetable wastes

(E) Wood

Choose the correct answer from the options given below :

(1) (A) and (E) only (2) (A), (C) and (E) only
(3) (A), (C), (D} and (E) only (4) (A), (B), (D) and (E) only
“FeRI" % &9 4 Jfiha s1afie w1 smfe mem R

(A) HOTH, FEAS HA
(B) Uy ¥uiE
(C) rrenifiver ufsrn amfie
(D) W STE

prepp
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() cniy

Hi= fou o foredt 4 9 Ut 59 Rl =eA hifw

(1) “Ed A) 3R (E)

@) b A), (C) 3 (E)

(3)  =d (&), (C). (D) 3R (E)
@  FaE (A), (B). (D) 3 (E)

[Question ID = 4884][Question Description = Q36_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 18999]
2. 2 [Option ID = 19000]
3. 3 [Option ID = 19001]
4. 4 [Option ID = 19002]

32) Under Sustainable Development Goal 12- Sustainable Consumption and Production, one of
the targets is to reduce per capita food waste at the retail and consumer levels by :

n ¥ 2 4
3 Y @ Y

Under Sustainable Development Goal 12- Sustainable Consumption and Production, one of
the targets is to reduce per capita food waste at the retail and consumer levels by :

n ¥ 2 4
3 Y @ Y

[Question ID = 4885][Question Description = Q37_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 19003]
2. 2 [Option ID = 19004]
3. 3 [Option ID = 19005]
4. 4 [Option ID = 19006]

33) Small hydro power potential in India is estimated approximately as

(1) ~ 60 MW (2) ~ 100 MW
(3) - 10 GW (4) - 20 GW

A § oY S Wik WU et B 1 AT 27

(1)  ~605mER (2) ~ 100 BTER
(3)  ~ 10 fiEn (4) ~ 20 fmare

[Question ID = 4886][Question Description = Q38_GP_22N0OV_S51_SHAAN_Shift1]
1. 1 [Option ID = 19007]
2. 2 [Opticn ID = 19008]
3. 3 [Opticn ID = 19009]
4, 4 [Option ID = 19010]

34) The global environmental issue of Ozone depletion is due to emission of :
(A) Sulphur dioxide

(B) Chlorinated hydrocarbons

(C) Methane

(D) Carbone dixoide

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only (2) (B) only
(3) (B} and (D} only (4) (A), (B) and (C) only

3T & =t Afveres geTaRelm waeal fress St & wRm e Y

(A)  ToH SEiFdaEs

(B) FARIE FRGHEA
(C)  #ig=

(D)  HEA ST SAFEES

e fou o fomredi @ @ TeE SUEE W T HINT
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(1) = (A) 3R (B)

2  Faa @)

3  Fad (B) > (D)

4 & (Q), (B) K (O)

[Question ID = 4887][Question Description = Q39_GP_22NOV_S1_SHAAN_Shift1]
1. 1 [Option ID = 15011]
2. 2 [Option ID = 19012]
3. 3 [Opticn ID = 19013]
4. 4 [Option ID = 19014]

35) Match List | with List 1]

List | List I

(Digital Initiatives in Higher Education) (Purpose)

(A) SWAYAM (1) Online store and access of academic awards namely degrees, mark-sheets etc.
(B) SWAYAM PRABHA (Il) Store and access personal e-documents irrespective of physical location.
(C) Digilocker () MOOCs for high-quality education anywhere and anytime,

(D) NAD (IV) Free DTH channel for high-quality education.

Choose the correct answer from the options given below :

(1) (A)-(1IT}, (B)-(1V), (C)-(11), (D)-(1) (2) (A)-(1IV), (B)-(ll1), (C)-(1}, (D)-(I)
(3) (A)-QV), (B)-(l), (C)-(1), (D)-(1) (4) (A)-(I1), (B)-(1), (C)-(11}, (D)-(IV)

freifea o = Frm aTfas 219g, i TUeTEdE % T H Yvirea R S R 7

1) T ) feremeE
(3) q%H (4) w=

[Question ID = 4888][Question Description = Q40_GP_22NOV_S$1_SHAAN_Shift1]
1. 1 [Option ID = 19015]
2. 2 [Option ID = 19016]
3. 3 [Option ID = 19017]
4. 4 [Option ID = 19018]

36) The NEP-2020 proposes to prepare which of the curriculum frameworks?
(A) National Curriculum Framework for School Education

(B) National Curriculum Framework for Adult Education

(€) National Curriculum Framework for Teacher Education

(D) National Curriculum Framework for Technical Education

(E) National Curriculum Framework for Vocational Education

Choose the correct answer from the options given below :

(1) (A}, (C), (E)only (2} (B}, (C), (D) only
(3) (A), (B), (Qyonly  (4) (C), (D), (E) only

73 forer A1f9-2020 o, Feifera o @ fopeepT Urasspd grem A9 R = 9=E 2 ¢
(A) e foan &g TP aeERE @

(B) vig R 2g wdi wieswy g

(C) e e 3g U™ UrowmET BT

(D) R T 29 v uesERn BT

(E) =i fuen 3g vdim wesshy gien

= fow o Gremt § @ OF SO w1 9Ea ST

1)  F= (A, (©). (B)

2 %A (B). (C). (D)

(3) & (A). B). ()

@ [ (C), D). E)
[Question ID = 4889][Question Description = Q41_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 19019]

2. 2 [Option ID = 19020]
| 3. 3 [Option ID = 19021]
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| 4. 4 [Option ID = 19022]

37) Which of the following values is related to self-transcendance?

(1) Security value (2) Value of Universalism

(3) Value of freedom (4) Value of conformity
FeifFa § § FE-T go8 W-50hY § Tag 87
1) T T (2) TEgREaTG A
(8)  TEaEar B e (4) WIS 1 o

[Question ID = 4890][Question Description = Q42_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 19023]
2. 2 [Option ID = 19024]
3. 3 [Option ID = 19025]
4. 4 [Option ID = 19026]

38) NEP-2020 proposes to establish which of the following new bodies?
(A) SSSA

(B) PARAKH

(C) NTI

(D) NITI

(E) NTA

Choose the correct answer from the options given below :

(1) (A}, (C), (D) only (2) (B}, (C), (E) only
(3) (A}, (B), (C) only (4) (B), (C), (D) only

a5 faren Aif3-2020 & Fr=ifa § @ B et i e %1 oeaa 27
(A) wWTWWE

(B) R

(C) I omg &F ome

(D) 7 o & o
(E) wdc
A fau 7w fommeul A @ wE) SO w1 =Ee Fife

1) #&@= (A, (0), (D)
@ = (B, (O). (B)
(3)  F= (A), B). (O)
4) == (B). (O). (D)

[Question ID = 4891][Question Description = Q43_GP_22N0OV_51_SHAAN_Shift1]
1. 1 [Option ID = 19027]
2. 2 [Option ID = 19028]
3, 3 [Option ID = 19029]
4, 4 [Option ID = 19030]

39) Which of the following is an apex advisory and non statutory body?

(1) NITI Aayog (2) NCTE

(3) AICTE (4) MC
Freifea o A i war aeEwl R it Feem 27
(1)  =ifg s (2) wHi g
(3 uamdds 4 i amg

[Question ID = 4892][Question Description = Q44_GP_22N0V_51_SHAAN_Shift1]
1. 1 [Option ID = 19031]
2. 2 [Option ID = 19032]
3. 3 [Option ID = 19033]
4, 4 [Option ID = 19034]

40) Who among the following was the first Chairman of UGC?



www.prepp.in .repp

Your Personal Exams Guide

(1) Sh Humayun Kabir (2) Sh C.D. Deshmukh
(3) Sh M, Moolgaokar (4) Moolchand Sharma

ferzaformem 19gm I % uem a1e9e HiT 9 ?
(1) = g e @ &
(3) it Tw. gEmEER (4) we=g Al

[Question ID = 48923][Question Description = Q45_GP_22N0V_51_SHAAN_Shift1]
1 [Option ID = 19035]
2 [Option ID = 19036]
. 3 [Option ID = 19037]
. 4 [Option ID = 19038]

b BRI —

Topic:- GP_Seth_C

1) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education {(GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEls will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc, as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e,g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

New National Education Policy is grounded in the assumptions that ;

(A) There is increasing interconnectedness among nations at the global level.

(B) Technical knowledge should replace traditional models of learning.

(C) HEIs must focus on promotion of desirable ethical values.

(D) There is need for changes in legislative framework to facilitiate free exchange of academic ideas and achievements,
Choose the correct answer from the options given below ;

(1) (A), (B) and (D) only (2) (A) and (C) only
(3) (A), (C) and (D) only (4) {C) and (D) only

TR TR ) iR A A F A

el 3T g % SO, W A W ¥ R § T A i A m ww
) e 7 Mwﬁﬁﬁ% o 9l TG A 906 A 7 A 9% e i, S
gﬁaﬂdﬂtaﬂwﬂammmwmmw o e % o Waﬁfﬁmwﬁi%‘ﬁ
51 e o A . e O 1
TE-A T S S G T T SR SR % TR A e %
ST T R R o I A Fef o i g 1 % 0 W 7
i i s -k i et o o gy 21 o e o O e
R Talgr T T T W O W 0 W e 7 A W W T T AW
7 | T T G o o T T e SR 6 s e e e
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T A R B o T W S g A v v g e o e e ) e
Tl A o T SR S R it el T e A e 6 O §
TR TR o T - WA A0 e o e v
Foared] 1 o 2 o o A 2 T e e ok o A, R % 100 o
AT § & SR v T 9 W 9 T 61 e TR 1 | 76 R 3
mﬁ%@%ﬁ%y@%ﬁmﬁ%%mm%ﬁ%awmﬁﬁmwam
it oo, AR T, A - T G % A S § e A g,
TR % AT TR % 9 g e A R % - 3 e W A A T
TR, S e vttt § Ao o (e % 948 W SR W9 A o 9 @ 9y
o] T YU 7 (T T ) S |

w7 g e et e o 3

(A)  HfFeE T W Unl % nea sigdega Ra satsa B @ 2

(B)  dedtehl w9 g, wieafier a1t diferat st uldeanfia = =il

(C) = e axAl 1 aifsa -2 Yodil % Tagd W SIH higd B =ey

(D) e fEmi i Suafsrn % 9% 9RA-TeH H g™ ST % fa fagrh ge 6 aied $

TETHFRAT 2

H= fou 7o fwedt 3 ® v 9w w1 = Hifaw

(1) A (A). (B) 3T (D)
(@) & (A) AR (C)
(3) & (A). (C) ¥ (D)
(4) ¥ (0) 3R (D)

[Question ID = 4894][Question Description = Q46_GP_22ZNOV_51_SHAAN_Shift1]
1. 1

[Option ID = 19039]
2. 2

[Option ID = 19040]
3.3

[Option ID = 15041]
4, 4

[Option ID = 19042]

2) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEls will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Yishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
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' colloboration and faculty/student exchanges with high guality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research cellaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | ; National Education Policy is framed with an objective of saving national HEls from competition at the global
level.

Statement Il : National Education Policy is framed with an objective of encouraging exchange of knowledge and expertise
both at local and global level.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct. (2) Both Statement | and Statement Il are incorrect.
(3) Statement | is correct but Statement |l is incorrect (4) Statement | is incorrect but Statement |l is correct.

TAvTeT T ) g o A T e & v

o A7 A % O, T AT W ¥ RV % T 7R A A T
ﬁ?ﬂwﬂmﬁﬁwﬁ%ﬁ% % OfF T i 304 9 A 9% e e, T
gﬁaﬂdﬂtaﬂwﬂammmwmmw o e % o F Waﬁfﬁmwﬁi%‘ﬁ
51 e o A v e T 1
TE-H T S A G T T SR SR % U O e %
ST S R R o 0 A% Fef o A g 1 % 0 W 7
o i s -k i ot o o 21 o e o v O o
R Talgr T T 5 W O 0 W e 7 S W T T T W
7 | TG T G o T T e SR W e e e e e
T T 1 9 o % e ) e o e v oo ¥ e (e | T
tacel T % 0 SRR e W o el e - P e o o 2
TR T A TR G-I W R O | W S A W R
Fyerel A1 o7 200 A A TR SR A 2 e e e o o v, fad % 100 o
tayataETe] 4 e v e o o o e ) g o ) A0 56 S O
7 4 T % fav 5 e o e o o 35 99 P e 6 o et &
i TaTFeToRp, TP T, A - o A O e 9 R | a
TR S 3T TER % i g e i e % - 9 Tieter w9 & e T
TR, T e vt o o o (0ez) % 948 WU R W A o 9 9 9y

G T P " it k
o T U 7 T T ) S |

fRAaAsE e .

o (I) : i e iy odls s R deEt w0 ATEE w9 afoergl @ = % ey ¥
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AT At TE 2

o (1) gl fen g e o Afvgs-gl T W 3E it feivga % SAeE-ugE w5l
ieaifed 0 & 3279 § 391 A 7 2

SUURR YA o AT °, A four e ool § # wed SUETE STR T 9 il

(1) = (D) 3tk AD I wF B
2 F= (D) R AD gHT T 2
(3) = (DT 2, afF wu QD T 2

(@) 9 () 7@ &, A FoA () T8 2

[Question ID = 4895][Question Description = Q47_GP_22NOV_51_SHAAN_Shift1]
1. 1

[Option ID = 19043]
2. 2

[Option 1D = 15044]
3 3

[Option ID = 19045]
4. 4

[Option ID = 15046]

3) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies, As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Which of the following statements most appropriately represent one of the chief concerns regarding higher education?
(1) It argues for only local production and of knowledge and its implementation.
(2) It emphasizes only upon implementation of foreign higher education models in India.

(3) It argues for mutual exchange of knowledge and learning among national and international institutions of higher
education.

(4) It argues for practical learning alone for employability putting social issues aside.

AR TP 8 e & T 0 T % e o

T T ST % TR, W 7 e A % T Ay i A w wn
A it T A A TE W T E I I e W
%@]ﬁj—iﬁ éq TE"HDH »ﬂﬂi*l. Al e "-‘htﬂlffr’ﬂﬁ_ ﬁ]ﬁﬂﬁ E-TIF% %ﬁ e ﬂﬁﬁﬂfﬂ % Addi %
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(V) A daw vl ge fmin oi s e i afe 4 w2

(2)  TEY 4FA 3 waw e 3= e s % Geress W w2

(8) o 5= e ¥ IS TN IR STaEia R R S TH 1R St 6 IR s SeH-TgH W
st feam = 2)

(4  zaEd A gE B st W R * e wae serie aftem f o=l F o 2

[Question ID = 4896][Question Description = Q48_GP_22N0OV_51_SHAAN_Shift1]

1.

1
[Option ID = 19047]

2. 2

[Option ID = 15048)]

S

[Option ID = 19049]

4, 4

[Option 1D = 15050]

4) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education (GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies, As a part of holistic education,
students at all HEIs will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEls/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
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employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Vishwa Guru. An international students office at each HEI hosting foreign students will be set

up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up

| campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
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. facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Holistic education at HEls is aimed at ;

(A) Research internship with researchers and faculty at different HEIs.

(B) Recyling of traditional knowledge systems.

(C) Providing opportunities for internships at local level.

(D) Keeping social sciences and natural sciences within distinct spheres of teaching and learning.
Choose the correct answer from the options given below ;

(1) (B} and (D} only (2) (A) and (C) only
(3) (A) and (D) only (4) (C) and (D) only

TEATRR TP 1 e 4 T 0 ) % e o

el ST ST % S, R A1 T ¥ AR § T AT e A mer
o e 1 e 6 45 T o T TR 4 A G &) A o o T, S,
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1) Fad (B) 3R (D)
2 = (@A) $R ()
(3) e (A) 3k (D)
4)  FEd (C) 3R (D)

[Question ID = 4897][Question Description = Q49_GP_22N0V_S51_SHAAN_Shift1]
1.

[Option ID = 19051]
2. 2

[Option ID = 19052]
3.3

[Option ID = 15053]
4. 4

[Option ID = 19054]

5) Read the passage carefully and answer the question that follow:

As the world is becoming increasingly interconnected, Global Citizenship Education {(GCED), a response to contemporary
global challenges, will be provided to empower learners to become aware of and understand global issues and to become
active promoters of more peaceful, tolerant, inclusive, secure and sustainable societies. As a part of holistic education,
students at all HEls will be provided with opportunities for internships with local industry, businesses, artists, crafts person
etc. as well as research internship with faculty and researchers at their own or other HEIs/research institutions, so that
students may actively engage with the practical side of their learning and, as a by-product, further improve their
employability. India will be promoted as a global study destination providing premium education at affordable costs thereby
helping to restore its role as a Yishwa Guru. An international students office at each HEI hosting foreign students will be set
up to coordinate all matters relating to welcoming and supporting students arriving from abroad. Research training
colloboration and faculty/student exchanges with high quality foreign institution will be facilitated, and relevant mutually
beneficial MOU with foreign countries will be signed. High Performing Indian Universities will be encouraged to set up
campuses in other countries, and similarly, selected universities e.g. those from top 100 universities in the world will be
facilitated to operate in India. A legislative framework facilitating such entry will be put in place and such universities will
be given special dispensation regarding regulatory, governance and content norms on par wth other autonomous institutions
of India. Furthermore, research collaboration and student exhanges between Indian institutions and global institutions will
be promoted through special efforts. Credits acquired in foreign universities will be permitted, where appropriate as per
the requirements of each HEI, to be counted for the award of a degree.

Given below are two statements :

Statement | : National Education Policy envisages learning as a process of inculcating values of tolerance, inclusion and
sustainability.

Statement Il : National Education Policy lays stress on employability of learners in businesses and industries.

In the light of the above statements, Choose the most appropriate answer from the options given below :

(1) Both Statement | and Statement Il are correct, (2) Both Statement | and Statement Il are incorrect,
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct.

AR TP 8 e & e 0 ! % e o
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SWIE F9F F AT 4, T f&u e fomed @ 9 ueg S5 S A =991 i

() = (D) 3k @D g4 wdt 3
(2) A () 3R (1) 3 o &
(3 = (D) = 2, S B 1) ToE B
@ = (D e 7, | w9 (0D Wet 2

[Question ID = 4898][Question Description = Q50_GP_22N0V_51_SHAAN_Shift1]
11

[Option ID = 19055]
P

[Option ID = 19056]
3.3

[Option ID = 19057]
4, 4

[Option ID = 19058]

Topic:- 2 Political Science_A

1) Which one of the following statements is true?

forroifeiE3aa 3 A il -#11 st AT § ?

[Question ID = 6310][Question Description = $§3_qSNz_PG_PLS_Q01]

1. No rights can be given to a man against the social interest/#arr w AEkre BT @ feg o aftror =23 e o1 st & [Option 1D = 24703]
2. Grant of Rights has no concern with social interest/sRroR yse T @ AEDSrr 20 3 o A9 @t £ [Option (D = 24704]

3. Rights can have anti-social character/afiront o1 =revg merafiainl & o £ [Option 1D = 24705]

4, Rights are a selfish claim/afirez =l =il 251 3 [Option D = 24706]

2) In which aspect does Modern Liberalism NOT believe?
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ARSI FEIE arg fooH ugq # farars ordt Taen 8 7

[Question ID = 6311][Question Description = $3_qSNz_PG_PLS_Q02]
Social liberalism/amfsee 3913 arg [Option (D = 24707]

Positive freedom/smrram Sarger [Option 1D = 24708]

Cradle to grave welfare/arwcrr 31 @ oee o [Option ID = 24709]

Minimal state/sgpae o [Option (D = 24710]

R

3) "We are witnessing the end of history as such that is, the endpoint of mankind’s ideological evolution and the
universalisation of western liberal democracy as the final form of human government”. Whose thesis is this?
"&H b Yooz 1 sierera @ sier @ wigh 2 F el wera sufar & denfyes fesra @1 afoaafds afiz anera orrwrar & sifta su A ufefl Serz diwceg

1 Hehiiftem & us oo e 3 7

[Question ID = 6312][Question Description = $3_qSNz_PG_PLS_Q03]
Francis Fukuyama /it qemzmen [Option ID = 24711]

Daniel Bell /2w aa [Option ID = 24712]

tilton Friedman/ Beoa gisde [Option 1D = 24713]

A Macintyre/e, #iperr [Option (D = 24714]

e it BRI

4) How was early liberalism characterised by C. B. Macpherson?

gyridne 32 ax ®f HdLdawle fiba ymr afiraféna e ?

[Question ID = 6313][Question Description = 53_qSNz_PG_PLS_Q04]
Possessive liberalism/3a 3amam [Option ID = 24715]

Welfaristic/soaromrc [Option ID = 24716]

Altruistic/wfZaac [Option ID = 24717]

Developmental/fremmeas [Option 1D = 24718]

R

5) Which one of the following theories is NOT related to Marx?

foraoifeilRaa & 3 Sia-a1 Rigia arad A dEfm ad 3 7

[Question ID = 6314][Question Description = $3_qSNz_PG_PLS_Q05]

Theory of Alienalism/sicem @1 Bigia [Option ID = 24719]

Theory of Surplus Yalue/ st s0= wr fgim [Option 1D = 24720]

Dictatorship of Proletariat/ sz w=f @t ammendt [Option ID = 24721]

Origin of the Family, Private Property and the State/uf¥mz, Bt Suftt #& o= o sga [Option 1D = 24722]

o kad R

6) Who amongst the following stated that life is "a perpetual and restless desire for power after power, that ceaseth only in
death"?

frrafelaa 3 3 foaor waa & B shaot v afis @ o gadt ofts g w0t & 7aa wd dorsem S B sia g d ma Ham 3 7
[Question ID = 6315][Question Description = 53_q5Nz_PG_PLS_Q06]

Aristotle/azg [Option 1D = 24723]
Machiavelli /ffFamet [Option 1D = 24724]
Hobbes /gfex [Option [D = 24725]
Rousseau/==t [Option ID = 24726]

T

7) Who amongst the following wrote The Art of War?

foraifartiae 3 2t o Riaas o1 "8 ane aifws 4’ Rzt & 7
[Question ID = 6316][Question Description = 53_qSNz_PG_PLS_Q07]

Machiavelli/fRFmcdt [Option ID = 24727
Mao/ami [Option 1D = 24728]
Hobbes/gfsz [Option 1D = 24729]
Rousseau/==t [Option ID = 24730]

L kad R

8) "Revolutionary violence is not just cathartic but it also allows the colonial subjects to recreate themselves”. Whose

statement is this?

"apfecrenrdt fEar o D Sow Bkl § aftws saferdolt gen o vt & gefsiater wr sawe s gora wrar ¥ as feawt werar § 7
[Question ID = 6317][Question Description = $3_q5Nz_PG_PLS_QO08]
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Hannah Arendt/&sr asfeese [Option 1D = 24731]
Frantz Fanon/Eoadam [Option D = 24732]
Machiavelli /ffepadet [Option ID = 24733
Hobbes /#fex [Option [D = 24734]

) Which one of the following is NOT a part of the political philosophy of Pandit Deen Dayal Upadhyaya?

roifertiae 3 31 oiel Uiza Slercard suearl o Isoiliie goler o1 ser ol & 7

[Question ID = 6318][Question Description = 53_q5Nz_PG_PLS_Q09]

R

1

Consideration of man as atoms /s @5 &1 3f 7/ @1 iz ©xat [Option (D = 24735]
Cultural nationalism/zizgiae sz [Option 1D = 24736]

Integral humanism /edbimea moaarg [Option 1D = 247 37]

Democratic governance/erpafage suam [Option 1D = 24738]

0) "We will get nothing by appealing to or shouting hoarse in the ears of the British Bureaucracy in India”. Who said this?

"aira 3 f§feer siiazondl & @it # andler wwot 2 =0 1ch wISal A &3 @B oidl ficen ” I8 ez o ?

[

1.
Z:

Question ID = 6319][Question Description = $3_qSNz_PG_PLS_Q10]

Lala Lajpat Rai/faen cosm 271 [Option 1D = 24739
Subhash Chandra Bose /3w =ig @t [Option ID = 24740]

3. B. R. Ambedkar /4t amz. sz [Option ID = 24741]
4. Bal Gangadhar Tilak/arm #emer Feer [Option 1D = 24742]

11) Which among the following statements regarding citizenship in India is NOT correct ?

HIH Bl aEllEpdl © Houl A BreslciRaa # 31 o 3 oo F8 &8t & ?

[Question ID = 6320][Question Description = $3_qS5Nz_PG_PLS Q11]

1.
i

3,
4,

Citizenship provisions came into force on 26 November 194%. /e Seedl qrrenar 26 ez 1949 @t aeg gz [Option D = 24743]
A person who voluntarily acquires the citizenship of a foreign country ceases to be an Indian citizen. /ot T saftr Foslt o 2o & apderm S Sm S ot

Farbt T <6t smeiiieen zova 2@t sl £ [Option 1D = 24744]
A citizen of India can simultaneously be the citizen of another country. /s o1 v ateiier vor 391 o= 291 w1 aetsr ot 2t aer 3 [Option (D = 24745]
The Parliament has the power to make provisions pertaining to acquisition and termination of citizenship. /sims & wx w oty 2 &b a5 smeitmn @t s

Tovel AT 3 ZA T3l A 6l gEns "o Jom & [Option 1D = 24746]

12) Periyar E. V. Ramaswamy argued in favour of:

afEnz s.dl. el o Roaas uer d ao e ?
[Question ID = 6321][Question Description = $3_qSNz_PG_PLS_Q12]

a2

Caste based social system /ol - amenfsnr smafirr =rren [Option 1D = 24747

Human dignity/#gea &1 @ifyar [Option D = 24748]

Yarnaashram system /aul-sngpr =rasen [Option 1D = 24749]

Enhancing the status of Hindi in India /s 3 &t &1 gfemat 31 g8 3an [Option 1D = 24750]

13) Who considered bureaucracy as the 'State's consciousness'?

il b IeNE! ot "I Bt TeTen’ A € ?

o R

b B

[Question ID = 6322][Question Description = $3_qS5Nz_PG_PLS_Q13]
Marx /et [Option [0 = 24751]

Lenin/&fmer [Option 1D = 24752]

Miliband/Bifei&s [Option ID = 24753]

Poulantzas/vieear [Option 1D = 24754]

14) Which one of the following is NOT a function of political parties?

ferraferfiaa i 31 wior-a1 weelfr affd or ori s & & 7

[Question ID = 6323][Question Description = 53_q5Nz_PG_PLS_Q14]

Formation of public opinion/smmerr @emen [Option ID = 24755]

Formation of government and alternate government /o iz dolimr sz wemen [Option 1D = 24756]
Political education to public/sern =t =i e Sen [Option 1D = 24757]

To control the judiciary/szemfeesr oz Freier sxmn [Option D = 24758]

15) Which one of the following is NOT a characteristic of constitutionalism?
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forgmteifiad i 31 Biel-2 zifaemerare &1 fRolaa #di & ?

[Question ID = 6324][Question Description = $3_q5Nz_PG_PLS_Q15]
Yalue based concept/sea-amanf¥a amuron [Option 1D = 24759]

Culture based caoncept/szgir-amntsa sameon [Option |D = 24760]

Party based concept/uet-anenfi srmemzon [Option (D = 24761]

Dynamic concept/=iffmgiter srmemam [Opticn 1D = 24762 ]

-

16) Who among the following distinguished between interest articulation function and other anomic group functions?

foraifertiae 3i 2t ooy Ba afigrEdioa gorf aitz ae sigfiianicra A3g gorif 3 i o ?
[Question ID = 6325][Question Description = $3_qS5Nz_PG_PLS_Q16]

Almond and Powell/amiz iz e [Option ID = 24763
Almond and Coleman/ s sftz wicsier [Option 1D = 24764]
Jean Blondel/ 3@ ==ige [Option 1D = 24765]

Hugh Heclo/zg 2w [Option D = 24766]

o R

17) India is NOT a member of which multilateral export control regime?

fBrraferf¥oa 3 A Rrw agdeita frada Brager gonedt @t sea acra a8 8 7

[Question ID = 6326][Question Description = $3_q5Nz_PG_PLS_Q17]

Missile Technology Control Regime (MTCR)/Rrems dusticiistt wiier feater (MTCR) [Option 1D = 24767]
Nuclear Suppliers Group (N5G)/mgforr amemet s (NSG) [Option 10 = 24768]

Wassenaar Arrangement (WA)/ ez wisiie (WA) [Option 1D = 24769]

Australia Group (AG)/si=fermm 3o (AG) [Option D = 24770]

b B

18) Which one of the following is NOT the core issue related to the neo-realist theory of International Relations?

Rwsiferia 3 A Siot siaefedia Ader o sia-aemelad Brgia 3 sidfa Stk iva 8l 3 ?

[Question ID = 6327][Question Description = $3_q5Nz_PG_PLS Q18]

Actors react in an anarchical environment /=ai soees ofsds 3 giofesen e & [Option D = 24771]

Structure is a major determinant of actor's behavior/modl @ we=gr =1 y== frllse sizmmr € [Option (D = 24772]

States are always engaged in the process of monopaly capitalism /g 3ra voilirsr Yellars ot gt # i 2t Z [Option 1D = 24773]

Distrust and fear ameng actors creates problem of security dilemma /il # sfearr A s @1 2ot e g & R Iruea e & [Option (1D =

24774]

-

19) Which one of the following is NOT a feature of ‘Sustainable Development'?

frraftifiaa 3 31 Do "gaa R o afiresor i § ?

[Question ID = 6328][Question Description = 53_q5Nz_PG_PLS_Q19]

Unrestrained development/afrifiy o [Option 1D = 24775]

Based on principle of generational equity/disiert zwm @ Bigir o amenby [Option 1D = 24776]

Development without environmental degradation/ofoem g1 @ Rer Bror [Option 10 = 24777]

Meeting present needs, without compromising needs for future/sftrer 5 smresrremat 3 masiten B R ariane smrewrremat ot =i gmer [Option 1D =

24778]

oL B

20) Who among the following dependency theorists added the concept of 'Semi-Periphery’?

foreateil3aa & 31 Rrw Golem @ Rigiamr o "aef-ufsi?’ & Soruem @ s 8 7
[Question ID = 6329][Question Description = $3_qSNz_PG_PLS_Q20]

1. Raul Prebisch /e giier [Option 1D = 24779]

2. Andre Gunder Frank/aig sjzz & & [Option 1D = 24780]

3. Henrique Fernando Cardoso/&afss wofs] oiEhar [Option 1D = 24781]
4. Immanuel Wallerstein/sigue dierses [Option 1D = 24782]

21) Leaders of which organization were invited during Prime Minister Narendra Modi's swearing-in-ceremony in 20147

2014 & gemorsc) oilg Al & IIUSPIEYI HAIE @ Glilol KbH 35100 @ oivlall Ol sl fooar swrm o ?

[Question ID = 6330][Question Description = $3_qSNz_PG_PLS Q21]
ASEAN / sferifor (ASEAN) [Option ID = 24783]

SAARC /7 (SAARC) [Option ID = 24784]

BIMSTEC /Rirmeer (BIMSTEC) [Option ID = 24785]

SCO /e it s (SCO) [Option ID = 24786]

Y e
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22) Which of the following is NOT provided to the Indian diaspora under the ‘Overseas Citizenship of India (OCl) scheme'?

‘sireer @Bt gandl sieifsasan (OIC) arsran @ siasta sea @ qarel serags o BrafaifRoa & 3 o goa ast Rear soen 3 7

[Question ID = 6331][Question Description = 53_q5Nz_PG_PLS_Q22]
Right for economic activities/anféfr Ryemall o afdrore [Option 1D = 24787
Palitical rights as citizens/ st oF w0 & w=Eifrr sftrer [Option 1D = 24788]
Educational rights/dtedfirr affrez [Option D = 24789)

To acquire life time visa/Shemeda dar & g [Option 1D = 24790]

bt B

23) Which agreement of defence cooperation was sighed by India with USA in 20207

2020 & wied of eI © A1 T/ Asdel @& Koa sswsiial a2 sragi kou ?

[Question ID = 6332][Question Description = $3_qS5Nz_PG_PLS Q23]

Basic Exchange and Cooperation Agreement (BECA)/afie wasdisr s Slaiileye wide (BECA) [Option ID = 24791]

General Security of Military Information Agreement (GSOMIA) /e B Jfiw fifeed oo wiidie (GSOMIA) [Option 1D = 24792]

Logistic Exchange and Memorandum Agreement (LEMOA)/Sif3iRew wooris Bz iplid=n wide (LEMOA) [Option ID = 24793]

Communication and Information Security Memorandum Agreement (CISMOA)/ crgitrsamn iz foiflom Brgied fwitisn weiifie (CISMOA) [Option ID =

24794]

o 2

24) Name the boundary line between India and China
I 3A1¥ e a5 ser @ T Imm wr Sy aand

[Question ID = 6333][Question Description = $3_q5Nz_PG_PLS_Q24]
Durand Line/s3s 3z [Option 1D = 24795]

Radcliffe Line/3=femr 3z [Option 1D = 24796])

tcMahon Line /@pasea sz [Option D = 24797)

Palk Strait/urr =0 [Option 1D = 24798]

oLk B2

25) How long can the Vice-President act as President, when the office of President falls vacant?

oI Frecuiel 1 ug fiep 81 s 8, Al susrsgutear Kol 29r a9 weguil I BRIMIT el Admar & ?

[Question ID = 6334][Question Description = 53_qSNz_PG_PLS_Q25]
Six months /=g adiar [Option ID = 24799]

One year/vw md [Option ID = 24800]

Two years/gt ad [Option |D = 24801]

Five years/ufz ad [Option ID = 24802]

oW 2

26) The superintendence, direction and control of elections to be vested in an Election Comission (Article 324 of the
Constitution of India) came into force on :

oIl 3IRIET (IR B Alena © sofcss 324) o grF goid & e, Bideret iz friqer &bt ake «a 3 ae gt ?
[Question ID = 6335][Question Description = $3_qSNz_PG_PLS_Q26]

26 January 1950/26 F=wsdt 1950 [Option 1D = 24803]
15 August 1947715 apa 1947 [Option ID = 24804]

26 November 1949/26 wewaz 1949 [Option 1D = 24805]
25 January 1950/25 aewrdt 1950 [Option 1D = 24806]

a2

27) By which Constitutional Amendment the word 'Socialist, Secular' and 'Integrity’ were incorporated in our Constitution?

Dicl-3 FAfera Holltlia © #EAIH A "warsat, deferzusr AT assar esgl o san dlkienrst # warer fipen s ?

[Question ID = 6336][Question Description = $3_q5Nz_PG_PLS Q27]
40" Amendment/ 40 af il [Option 1D = 24807]
472" Amendment/42 of it [Option 1D = 24808]
44 Amendment/ 44 af sisher [Option 1D = 24809]
46™ Amendment/46 af sisher [Option 1D = 24810]

o R

28) Which one of the following functions is NOT the concern of the local government?

forsaifert¥e 3 3 wior-a wor wrl rereiizr omarst A et orft 3 7

[Question ID = 6337][Question Description = 53_q5Nz_PG_PLS_Q28]
Public health/zitr =m=eer [Option 1D = 24811]

Sanitation/saeeem [Option 10 = 24812]

Public utility services/crpiwisft Zme [Option 1D = 24813]

tMaintenance of public order/ards=tiors saa=en o agzam [Option 1D = 24814]

bt B
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29) Which one of the following statements does NOT characterise a social action group?

forgmteifian el # Diel o Il DI e (FA9IcT Ta9le 3} DI ABCISv okl & 7

[Question ID = 6338][Question Description = $3_q5Nz_PG_PLS Q29]

They are partisan groups/a usiurd 7z & [Option (D = 24815]

They are non-institutional oreanisations/d sts-sizafire Hdema & [Option 10 = 24816]

They are non-autonomous groups dependent on the support of the government /2 iz-rarrromeh g & 5l F=er @ I w anige & [Option 1D = 24817]
They are non-professional formations/d = wmaiErs oene (wredera) 2 [Option (D = 24818]

oW R

30) Who among the following referred to the Constituent Assembly of India as "Microcosm in action’ ?

forrmferfiae 3f 2t fszmoy v &t Fifens 7o o "arva & Jea g B Az & 3 7
[Question ID = 6339][Question Description = $3_qSNz_PG_PLS_Q30]

1. B. R. Ambedkar /4t sz swasm= [Option 10 = 24319]
2. Granville Austin/Saim sfifdear [Option 10 = 24820]
3. Rajni Kothari/>==t @izt [Option ID = 24821]

4. Rajendra Prasad/==ig yzns [Option |0 = 24822]

31) Which of the following does NOT characterise electoral politics in India today?

fBremferf3e 3 wlor-am, sireea 3 ansfl o gandt wrselfer wr sfsragror o8t 3 ?

[Question ID = 6340][Question Description = $3_q5Nz_PG_PLS_Q31]

1. Multi-party system/ag-ooiter gen [Option 1D = 24823

2. Coalition formation/ewrizmr Bmior [Option D = 24824)

3. Stabilization of the Congress dominance system /=B & qyra ardl saasen =1 fFerfieszon [Option 1D = 24825]
4. |ncrease in the scope of electoral choices of voters/amermral & godt usig & gae # gi [Option 1D = 24826]

32) Atmanirbhar Bharat Abhiyan was launched on

sieH forslz s arrma foraioiRan 3 3 s ol o1 s fswn srm ax ?
[Question ID = 6341][Question Description = $§3_qSNz_PG_PLS_Q32]

12th May 2020712 =£ 2020 [Option ID = 24827]
12th October 2020/12 aemez 2020 [Option ID = 24828]

12 November 2020/ 12 sz 2020 [Option 1D = 24829]
12% December 2020/12 f=imz 2020 [Option ID = 24830]

o e =

33) Who coined the famous acronym "POSDCORB™?
g1z uzavil g1z "POSDCORB’ Rt aarn gam & ?

[Question ID = 6342][Question Description = $3_qSNz_PG_PLS_Q33]
Henry Fayol/2srt &=iiet [Option |0 = 24831]

Mary P. Follett/adt it wide [Option ID = 24832]

Gulick and Urwick/aftrr sfiz gftfa [Option D = 24833]

Frederick Taylor/@sirpeme [Option 1D = 24834)]

o kad RJ

34) Who wrote Reinventing Government (1992)?

"Heorifeor srashic (1992) fvwa =it 8 7

[Question ID = 6343][Question Description = 53_q5Nz_PG_PLS_Q34]
Robert Denhardt/ e 3smrt [Option 1D = 24835]

Pfiffrner and Presthus/ usw sz grems [Option 1D = 24836]

Osborne and Gaebler /aiwmiel sfiz dwe [Option 1D = 24837

Gordon Tullock /siiga grifees [Option 1D = 24838)

B —

35) Who is called the father of 'Comparative Public Administration'?

‘IR AT Qe YA Bl Aol (62l ol Il & 7

[Question ID = 6344][Question Description = $3_qS5Nz_PG_PLS_Q35]
Edward Wiedner/esad fi=az [Option 1D = 24839]

Fred Riggs /@ =R=a [Option |0 = 2484(]

Ferrel Heady /w¥er &t [Option [D = 24841]

Chester Barnard/ds=z saifd [Option 1D = 24842]

T

36) Which of the following statements is incorrect about the "Human Relations Theory"?
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‘Hrerd Hder Brgia’ (gdtel fraeis Rridt) & an i Grataliaa sl I 2t oto-7m 7 oidf 2 7
[Question ID = 6345][Question Description = $3_qSNz_PG_PLS_Q36]

1. Organization is to be viewed as a social system/ZFod ® AWnRrE UEk © Fa 3 S0 s mize [Option ID = 24843

2. Workers are human beings with all humanly attributes/gfre siyol Ao el 3 Juee mers geit £ [Option 1D = 24844]

3. Informal elements do not play an important role in the overall organizational cutput/ smivaiicn w1 TE] TFonReFRD STUcH 3 Agcayn siset o als o
wat [Option ID = 24845]

4, Qrganization has social ethics, instead of individual ethics/sewe # =altrerT =it @ w=rr apnferr g Rt £ [Option 1D = 24846]

37) In 1989, the World Bank conceptualised "Governance” in the context of which of the following nations?

1989 4 fira d o forgafaifiaa 3 3 Rewr wog, @& Heool A 'orerar’ (s1aotia) &I Fioouen ot ot ?
[Question ID = 6346][Question Description = $3_qS5Nz_PG_PLS _Q37]

United Kingdom/zenses fisszar [Option 1D = 24847]
Australia/sizfern [Option 1D = 24848]

Sub-5aharan Africa/smr-szra agior [Option 1D = 24849)
New Zealand /=Hids [Option 1D = 24850]

oWk b

38) Who said that "Public Administration is the accomplishment of politically determined objectives"?

feraroY et B o5 "dlies gonde IswEifae su 3 foruifsa asel & forouf 27 7

[Question ID = 6347][Question Description = $3_qSNz_PG_PLS_Q38]
1. Woodrow Wilson/g=2 facsrer [Option 1D = 24851]

2. L. D. White/war=l. zame [Option 1D = 24852]

3. Carson and Harris/aisie sfiz 8 [Option 1D = 24853]

4. Dimock and Dimock/f=etiw sz Beiies [Option ID = 24854]

39) "Budget is a document containing a preliminary approval plan of public revenue and expenditure”. Whose definition is
this?

"SI RE SIS & RIAd AEhre IR AR =R G yridcs wdapa aieen gkd 3 as afsm Reaa & 8 7
[Question ID = 6348][Question Description = $§3_qSNz_PG_PLS_Q39]

Leroy Beauliew/7tiE sgfitrst [Option 1D = 24855]
Robert Walpole/ 3 armier [Option D = 24856]
Reno Storm/3H =ex [Option [D = 24857]
Willoughby/ feirdt [Option 1D = 24858]

O

40) Who has been the most prominent among the Chicago school economists?

oroen fiemzen & sefonficell # 31 wdfers g @i & ?

[Question ID = 6349][Question Description = $3_qS5Nz_PG_PLS_Q40]
Adam Smith /u=ar e [Option 1D = 24859]

Milton Friedman/fivees weada [Option 1D = 24860]

Carl Menger/@rd #is [Option 1D = 24861]

Fredrick Hayek/@simwame [Option 1D = 24862)

P

41) Who among the following are not supporters of positive liberty?
A, T. H. Green

B. John Locke

C. Harold Laski

D. Jeremy Bentham

Choose the correct answer from the options given below:

formfartiaa 3 31 Siar FERKAS Fadqe o Tasks ol 2 7
A, &, wa, s

B. Sifor did

C. &ues abl

D. Sl derm
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aitar v o1e frwseai A A wft s gdi ¢
[Question ID = 6350][Question Description = $3_q5Nz_PG_PLS_Q41]
1. A and B only/daer A 3fiz B [Option 1D = 24863]
2. Band D only/@aer B diiz D [Option ID = 24864]
3. Aand C only/@ae A 4z C [Option ID = 24865]
4. Cand D only/a@e C afiz D [Option D = 24866]
42) What are the central beliefs of conservatism?
A. Tradition
B. Hierarchy and Authority
C. Social Darwinism

D. Social Liberalism

Choose the correct answer from the options given below:

Aoedlc @ Il faeara 2 ¢

A,

B. ug #arferdt sfiz Tran

C. wmafae sniteac

D, saufars serearg

oifer o are fomsedl 3 31 A IUgEp IaT & A Difey |

[Question ID = 6351][Question Description = $3_q5Nz_PG_PLS _Q42]

A and C only/@ae A 3z C [Option 1D = 24867]
A and B only/@am A & B [Option ID = 24868]
B and C only/axmwT B diz C [Option 1D = 24869]
A and D only/axwT A itz O [Option 1D = 24870]

e B

43) Which of the following aspects have been defended by J. 5. Mill?
A. The rights of women

B. Bentham's utilitarianism in toto

C. Married woman's property bill

D. Patriarchy

Choose the correct answer from the options given below:

forraferaa 3 3 fva gse w1 wara 3. g, B Fro Boar sen 3 7

A. wfdemail & slfroe

B. dew w1 o) soiBrmac

C. Ranféa sifden Hafer Rfre

D. foraamesaar

ot e =1 Rraseal # 31 T yagw a7 o waa Hifsoe

[Question ID = 6352][Question Description = 53_q5Nz_PG_PLS_Q43]
1. Aand C only/dacr A diiz C [Option 1D = 24871]

2. Band D only/@acr B 4z D [Option 1D = 24872]

3. € and D enly/dswae C stz D [Option ID = 24873]

4. Aand D enly/@ae A 3w D [Option 1D = 24874]

44) Which of the following statements about Hegel are true?

A, State is the march of God on Earth

B. Hegel regarded women as inferior, with less reasoning abilities
C. Hegel rejected the concept of civil society

D. Hegel does not believe in war

Choose the correct answer from the options given below:

Sioter o e 3 oretfalian # 31 wiel - o1 e il § 7
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A. w15 gedt o $ea7 i Iye Slon

B. Hover aifdonail ot ww o7 we 8, JereT Avsen e B wfdenail B afe g ww Bt 3
C. ot of Rifka Al 6t srmaeon @1 ssileR a3

D. diore w1 fararer g5 A odl &

ol 8u a1e Rrpodl d 31 718t 3w @1 ags &k

[Question ID = 6353][Question Description = $3_qSNz_PG_PLS_Q44]

1. Aand C only/aswT A stz C [Option 1D = 24875]
2. Band C only/@ae B 4z C [Option ID = 24876]
3. Cand D only/@e C 3z D [Qption |D = 24877)
4. A and B only/@ae A dfis B [Option ID = 24878
45) Which of the following about Raja Rammohan Roy are true?
A. He was influenced by the Upanishads
B. He was a rationalist and supporter of monotheism
C. He was an atheist

D. He was critical of the principle of trinitarianism advocated by Christianity

Choose the correct answer from the options given below:

forraifeiliaa 3 3 wier -31 IIe1T 2191 Aeot IR ® AR J A8 ol B ¢

A. q saferct 3 yeafia &

B. @ gipardt & ik uabasars & wedks 4

C. d o &

D. @ fardaie g waldia grrere Favarc © Rigia © socikam &9

sifl fon oo Rrpedl 3 3 A3 TR 30 ©I =l DIk

[Question ID = 6354][Question Description = $§3_qSNz_PG_PLS_Q45]

A, B, Cand D/A, B, C iz D [Option ID = 24879]

A, B and C only/=rm A, B aiiz C [Option 1D = 24880]
A, B and D only/dam A, B afiz D [Option ID = 24881]
B, C and D only/dam B, C 3fiz D [Option ID = 24882]

R

46) Which of the following statements about Balgangadhar Tilak are true?

A. He envisioned the formation of linguistic states

B. He was both a restless nationalist and a realist

C. He prefered political freedom over social reform

D. For Tilak, political liberation and rights can be achieved through direct action and pressure

Choose the correct answer from the options given below:

forrmfeilion 3 3 @il - 1 Daa arT sisneR ferers © Haer o 71t § .

A. Joaior yiurg snenfya 3w fomeaior @1 wouen @t

B. & aif¥er wmcardt iz wenefardt Siwil &

C. 3ociol AENRRE PR R ISHURRE Faddqan of o &

D. Rrewr @ fore Iswiifers Fadge sfi siffroRit @ Yraer oo iz sax 3 g Ko s w1 8
oifl fow oo Rped! 3 3 A3 TR 3R © =l ik

[Question ID = 6355][Question Description = $3_qSNz_PG_PLS_Q46]

. A, B, Cand D/A, B, C &z O [Option 1D = 24883]

B, Cand D only/wrm B, C 3z D [Option 1D = 24884)
A and B only/dwm A &z B [Option 1D = 24885)

. Cand D only/@ae C sfiz D [Option |D = 24886]

T

47) Sri Aurobindo conceives nationalism as
A. Spiritual nationalism, different from the western concept of nationalism

B. A nation as an organism
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C. Nationalism as a religious aspiration and moral attitude
D. Nation as a geographical entity

Choose the correct answer from the options given below:

oft sRicl o @ Row wa 3 aea £ -

A. araicaos Irae, Iscars b Mg sIEenIvn A e

B. syl @ a3 g

C. enfifes cor iz diferr eftcain © wu & Tar

D. siisnifors s @ WU 3 A

oifl fon oo Rrpedl 3 3 A3 TR IR ©I1 w6 ik

[Question ID = 6356][Question Description = $3_qSNz_PG_PLS_Q47]

. A, B, Cand D/A, B, C &z D [Option 1D = 24887]

A, Band C only/zmm A, B aiiz C [Option 1D = 24888)
B and C only/axwT B diz C [Option 1D = 24889]

. Cand D only/@ae C sfiz D [Option |D = 24890)]

bt B

48) Which of the following are prerequisites of the comparative method?
A. Conceptual framework as a factor in unit selection

B. Comparable conceptual issues as a focus of inguiry

C. Definition of the focus of inquiry

D. Theory building

Choose the correct answer from the options given below:

forgat 3 31 o ughT @ e gd orf 2 :

A, zoré 3@ =6l 3 U BRG & T4 # golelivAD It

B. =i @ dig © 0 3 elofla aaeeoncA® el

C. = @& g &t ufnmar

D. frgia forafur

offal fou a0 faasedl 3 31 A IUYETP 3k o1 9eel HIfo

[Question ID = 6357][Question Description = 53_qSNz_PG_PLS_Q48]

1. Aand B only/@am Az B [Option ID = 24891]

2. A, B and C only/dsae A, B stz C [Option ID = 24892]

3. A, B, Cand D/A, B, C 5w D [Option ID = 24893]

4, Aand D only/o5am A #iz D [Option 1D = 24894]

49) Which of the following are related to Karl W, Deutsch's approach of communication in Comparative Politics?
A. Political system is like a machine working on the basis of information

B. In his theory, homeostasis, instead of equilibrium, is used for dynamism

C. Emphasis is given on structure and functionalism

D. Output functions are given more importance

Choose the correct answer from the options given below;

ferraferfiaa 3 A wier - & weer gerencaw Aseii # wicl seoy Siror @ dan efRcwter & Hdfta & ?
A. IEHIRT RIawen Foe © R U2 i B aclt #avlier © weme 3

B. 3orcd Brgia & siftieliarr @ e s @ Ferer wr waf¥afer o grier aiar 3

C. szwon iz yoorkie uz ad G s 2

D. B goordt @t sftrs #sva R s 3

ol 8u a1e Repeul d 31 718t 3 @1 ags &l

[Question ID = 6358][Question Description = $3_qSNz_PG_PLS_Q49]



www.prepp.in .repp

Your Personal Exams Guide

B and C only/@aer B 3 C [Option ID = 24895]
C and D only/a=w C 3z D [Option D = 24896]
A and D only /3 A &tz O [Option 1D = 24897
A and B only/@wc A dfm B [Opticn 1D = 24898]

oW

50) Which amongst the following are reasons for the emergence of Neo-colonialism?
A. Weakened position of European powers

B. Rise of consciousness against imperialism

C. India's foreign policy

D. Japan's foreign policy

Choose the correct answer from the options given below:

forrafeifiad 3 3 wiel A1 olg - IUlcreEIE O 390l ® BRUI E 7

A, gdia eifpal &1 oAkl g3 Refe

B. mar=aaie & [Aeg scwan i giy

C. s <bI fegor siifer

D. sraret <6t fager stfa

oiil 18 =1e famcul # 3 Jé sz @ ada bifae ¢

[Question ID = 6359][Question Description = $3_q5Nz_PG_PLS_Q50]

A and B only/@am A & B [Option ID = 248%9]
B and C only/sae B 4= C [Option 10 = 24900]
. Cand D only/fwwr C 3z D [Option D = 24901]
A and D only/axmwT A itz O [Option 1D = 24903%]

e B

51) Which of the following features are given in the UN Charter for preservation of peace?
A. Peace-making procedure is given in Chapter-Vl for the peaceful settlement of disputes
B. Chapter-VIll deals with the peace-keeping activities

C. Peace enforcement is given in Chapter-VIl for coercive settlement of disputes

D. Chapter-IX deals with economic cooperation among states

Choose the correct answer from the options given below:

g wel T A guifer 6l dzgn & fe1e [oreot 3 23 wia 1 frdigand €t =18 & ?

A, el @ enfergut oraer: & sreemar-VI & orifer - sl &1 gigeme & o8 &
B. sreemer-VIII gnifer asrcdt sifefaizrt 21 Fidiing &

C. arezmer-V| 31 il & aoydes foiuen © fee gifa gader féar srn &

D. srear-1X a4l # it aedler A Adiineg

il e =1e famcul # 31 Jé sz @ ada bifae ¢

[Question ID = 6360][Question Description = $3_qS5Nz_PG_PLS_Q51]

A and B only/@wm A & B [Option ID = 24903]
A and C only/@ae A 3z C [Option 1D = 24904]
B and C only/@ae B 4= C [Option 10 = 24905]
B and D only/aser B diz O [Option 10 = 24906]

bl D —

52) Which of the following are true about the world system theory?

A. It is influenced by the Marxian idea of accumulation of wealth

B. On the basis of wealth accumulation, the world is divided between 'core’,'periphery’ and 'semi-periphery’
C. It involves important concepts like players, strategies, rules and outcomes

D. It analyses the situation of conflict, competition and cooperation among states

Choose the correct answer from the options given below:

dftaw gqurcll Bigm @ dda AR A A s ad § ?
A, a5 ara @ oa FoRl @ feme 3 gantfae 2
B, o1 sior o amenz uz foea ‘o, 'ul¥fy’ afi ‘aref - iy & dader
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C. sl Raordl, welfert, frm Jfiz ufyma St #eraget saemone enfim &

D. =g Irewl o e o, giereaet stz wseier o e @1 frcswor o 2

ol f&w s1e famsedl 3 2 714l 3me o1 a1 &ifau ;

[Question ID = 6361][Question Description = 53_qSNz_PG_PLS5_Q52]

1. Aand B only/@am A B [Option ID = 24907]

2. Band C only/wa= B diz C [Option 1D = 24908]

3. Cand D only/ase C 4z D [Option 1D = 24909]

4, Aand D only/o5am A #iz O [Option 1D = 24910]

53) Which of the following are true about Regime Theory in International Politics?
A. It is an attempt for the existence of rule-governed behavior in the anarchic international system
B. They are to replace collective security system

C. Major powers resolve conflicts through this mechanism

D. They have been defined by principles, norms, rules and decision-making procedures

Choose the correct answer from the options given below:

sioearedla siferil 3 onwrorowier Rigia (Rsitar eatht) & viaer 3 o i Gla wdt 3 7

A. a5 3vrsro Afaewrcdt gonedl H foraw enfdier srasr & Ramei @ e g 8

B. & wgfdw gren goneh o1 gferrenfim avwor &5 e &

C. guz aiipen 591 quieell @ anezar A 31 1 Aonener ol §

D. 353 Rigial, merost, Brawi iz frofr S5t B gitgenet s afvsidya Ry s 3

oiiel fu s1e Rraseal A 1 #dl 3a7 w1 awua Hifow ©

[Question ID = 6362][Question Description = $§3_qSNz_PG_PLS_Q53]

1. Aand B only/&am Az B [Option 1D = 24911]

2. Band C only/@ae B 4z C [Option 1D = 24912]

3. Cand D only/aaea C 3fiz D [Option D = 24913]

4. Aand D only/@ae A 3w D [Option 1D = 24914]

54) Which of the following statements about India's foreign policy are true?

A. India has signed the Land Boundary Agreement (LBA) with Bangladesh in 2015
B. India has agreed to build Hambantota port in Sri Lanka in 2017

C. India has signed a Strategic Partnership Agreement (SPA) with Afghanistan in 2011
D. The regime of Abdulla Yameen {2013-2018) of Maldives was friendly with India

Choose the correct answer from the options given below:

sz @Bt Brdor oiifr & fraw 3 RBraifra st # oo ar wdt & 7

A. srrea o ad 2015 3 gorenor @ wver Mo AT (va @ ©) oI svae Row ¥

B. s ot ad 2017 3 offciort 3 dworcier dcvons @ Brafer a3 wewd s & 3

C. sira o ad 2011 3 arpenfersoa @ H11 wrliftrr welsd sesid (v i v) v zemsr Row &
D. srcrdta < aregeen aefior (2013 - 2018) o5 enwtornTer 3 w12 < Farex Jct wider &

ol f8u a1e Repodl d 31 718t 3 o1 aus &l

[Question ID = 6363][Question Description = $3_qSNz_PG_PLS_Qb4]

1. Aand B only/wsm A & B [Option 1D = 24915]
2. Band C only/@ae B 4z C [Option 1D = 24916]
3. A and € only/@aa A 4 C [Option ID = 24917]
4. C and D only/@we C 3z D [Option |D = 24918]
55) Which of the following statements are incorrect with regard to the Finance Commission ?
A. The provision of Finance Commission has been mentioned in Article -280 of the Constitution.
B. Finance Commission shall consist of Chairman and two members.

€. Finance Commission submits its recommendations to the Parliament.

D. The Parliament is authorized to determine the qualifications for appointment as member of the commission.
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Choose the correct answer from the options given below:

fore aRileT @& F1ocs! 3 gordl A wia A wewr 7L w8l § -

A. e smrileT o graas Ffena @ e - 280 # sRafan 3

B. fomr arriter areerzt sz S o=l @ ol Bloil wize

C. for st areil Riwiiesl sieig (ciioami) # Qg @ &

D. ameiter & w5l & Byl B Aiswaii o Bt wwa & e deas gftepa
ol f8u a1e Rrpedl d 31 w18t 3 w1 ags &tk

[Question ID = 6364][Question Description = $§3_qSNz_PG_PLS_Q55]

A and B only/dsm A &z B [Option 1D = 24319]
B and C only/axmwT B diz C [Option 1D = 24920]
C and D only/@aa C 4z D [Option 1D = 24921]
A and D only/&@ee A gz D [Option 1D = 24922]

ol B

56) In India’s Foreign Policy, ‘Indira Doctrine’ is related to

A. It aims to make India a global power

B. It is a policy to develop cooperation with neighbours

C. It equates India's security with that of South Asia

D. Any interference in the South Asian region will be considered a threat to India's security

Choose the correct answer from the options given below:

AR fder ofifer 3§ 'sféer Rigia’ Rowa Aefim § 7

A. sIRDT 3297 M @t faw giRe ot 3

B. az usiil soil & e wee a3 weo & ofifer <t

C. sordi s <6t e sfdvr widrn & werper yeftla &t o 2

D. sfémr eidrnsd i o ot sft svadiu ot ura &1 3zen # wmawr JeEn srgen
ol 8u a1e Repedl d 31 718t 3 @1 ags &l ¢

[Question ID = 6365][Question Description = $3_qSNz_PG_PLS_Qb56]

1. Aand B only/dsm A d B [Option 1D = 24923

2. Band C only/u@m B &z C [Option 1D = 24924]

3. Cand D only/fwerr C 3z D [Option D = 24925]

4. A and D only/®ae A 4iz D [Option |D = 24926]

57) Which of the following are the exclusive powers of the Lok Sabha?
A. Introduction of the money bill

B. Ratification of the declaration of emergency

C. To pass a motion of no-confidence against the council of ministers

D. To impeach the President

Choose the correct answer from the options given below:

forraifertiae 3f 3t ©iol Aoz & vodd ArmE £ 7

A, trol RIS o1 YgdtepIur

B. ammurq orer argen i gite oz

C. 3fy - ulivag & fasg afdwam yrama wira s

D. Isguicr @ ey #EfEReT ©f YFad el

oflY fow a1w faascal 3 31 JEl Tz @1 @rRIel Hifae

[Question ID = 6366][Question Description = $3_qSNz_PG_PLS_Q57]

1. A and B only/dae A 4fis B [Option ID = 24927]
2. A and C only/@ae A 3z C [Option ID = 24928]
3. Aand D only/wae A die U [Option 1D = 24929]
4, A, Band C only/@we A, B 4z C [Option 1D = 24930]

58) The Supreme Court Of India in its order dated 24th August 2017 in Justice, K.5, Pultaswamy (Retd)} vs Union of India
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declared that:

A. The right to privacy is protected as an intrinsic part of the right to life and personal liberty under Article 21 and as a part
of the freedoms.

B. The Union government must amend the Constitution and add a provision for the right to privacy.

C. The right to privacy is protected by Article 14{equality before the law), Article 19 (Right to freedom), Article 21{(
Protection of life and personal liberty).

D. Right to privacy is derived from Article 25( Right to freedom of religion) and Article 14(Protection of interests of
minorities)

Choose the correct answer from the options given below:

WIF @ Hdled AaRIeR of 24 3P 2017 o ©. v ggeanll (erd) awme yiia Fia o 4 fowta 6w en i ;

A, forsan @ af2rer ©f FAldere © e 21 @ oflae iz calfpsia Fadgen @ Altrer © affad se1 & wa # den dliars @ st | g 6t
3% ansnifSi o s1Ed o snewH A Fren ga

B. @ig wveory @t wrwcdr dllensr & Sonerer w3ay 3ad oraan @ sifrasr: sisan afde

C. foratar @ sftrrr seeds 14 (wioe o A6y Jaera), seeds 19 (Fadagear o Aaitre), seede 21 (sihast siiv wifrose Fadogar & gzen)
ST HzLM YId &

D, foraar @1 aiftro sigese 25 (enfifes ansnd) @ siffreR) iz saese 29 (srcusizsaa oot @ Rl @1 Fzsn)

oifel o a1e fimsedl 3 31 A JUgEp IaT ©1 A Difery |

[Question ID = 6367][Question Description = $3_qS5Nz_PG_PLS_ Q58]

A only/dser A [Option ID = 24931]
B only/awrT B [Option 1D = 24932]
A and D only/axmwT A itz O [Option 1D = 24933]
. Cand D only /s C 3z D [Option D = 24934)]

R

59) Which of the following are the issues of debate in electoral politics?

A. Electronic voting machine

B. One nation, one election

C. Single-member election commission

D. Introduction of the two-children norm for eligibility to contest local elections

Choose the correct answer from the options given below:

forraterfian 3f 2t @ia gondt TEhfa i acfar & faua 3 7

A, zoacifors Aacrar mefior

B, um weg, uews gora

C. v HewiR forafeor an=ier

D. Femsiler golid t¥sol @ 10 <Y geell @5 Hlold O YIEFH Dol
oA e s1¢ Rraseal # 31 T yagw a7 o waa Hifto @

[Question ID = 6368][Question Description = 53_q5Nz_PG_PLS_Q59]
1. Aand B only/@am Az B [Option ID = 24935]

2. A, B and C only/dsaet A, B 3z C [Option ID = 24936]

3. A, B and D only/daet A, B 3z D [Option ID = 24937]

4, B, Cand D only/@w= B, C 4z D [Option ID = 24938]

60) Labour movements in India suffers from

A. Low membership

B. Weak finances

C. Multiplicity of union

D. Presence of differentiated organizational structures for different classes of labor

Choose the correct answer from the options given below:

NI 3 off3r Jicictel féver 3 gogeniaeT avm 2 7

A, B FgTE
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B. wasi: B

C. s gl oo aten

D. Rl dsoararn sizaen 6 sufFaf, S oot @ Rifice o=it @ R
oifl fon oo Rrpedl 3 3 A3 TR IR ©I1 w6 ik

[Question ID = 6369][Question Description = $§3_qSNz_PG_PLS_Q60]

1. Aand D only/axwT A itz O [Option 1D = 24939]

2. Band C only/@ae B 4z C [Option 1D = 24940]

3. A, Band C only/dam A, B afiz C [Option ID = 24941]
4. A, B, Cand D only/A, B, C sz D [Qption |D = 24942]

61) Mc Gregor in his celebrated text, The Human Side of the Enterprise has given his famous "theoretical assumptions”.
Which of the following are the correct assumptions?

A. The average human being, with relatively little ambition, prefers to be directed and wishes to avoid responsibility,
Security is the main concern

B. The average human being learns under proper conditions not only to accept but to seek responsibility
C. The average human being has an innate antipathy to work, which he will avoid, if he can
D. "Best management is a true science”

Choose the correct answer from the options given below:

3w S & sua gitftoa aa oo s gEia @S 3w © sovgrser A saa giing Hgife aeaarE’ gora Bt ¥ BeafifRaa d 3 @i 18l weam
g:

A. e #iora BRib! ASIRGa wa acrarpRl 8, Hreldm slon wdie wear 3 Al steiRra A g7 3sol wifldw 3 e g Ridr sl 2
B. a1 anera sgfee ReRreil @ siRra o Saa =iior oo & afce Janl Yia oo off e &

C. 3 #ea o1 Rl ol B i of Daa ranifas R e g afe o sa orl 2 27 750 3 @6t 81, ot g7 off Teon @ngsn

D. Scagee yders oo 21d fismer &

i) feu o1v famscul 3 3 A= SWRyTp Jaz 1 e BHifony |

[Question ID = 6370][Question Description = $3_qS5Nz_PG_PLS Q61]

1. Aand B only/@am A #i B [Option ID = 24943]
2. Cand D only/wxrr C 4z D [Option D = 24944]
3. Aand Donly/amT A iz O [Option 1D = 24945]
4, A, Band C only/dmma A, B 3fiz C [Option 1D = 24946]

62) Performance budget reflects how well a government entity is meeting its goals and objectives. Which of the following
are the central point of Performance Budgeting?

A, It requires the establishment of performance levels and the collection of information
B. The amount of work that is done is measured

C. The quality or the results of that work is measured

D. This impacts how much meoney a department will receive in the future

Choose the correct answer from the options given below:

foreurcer aste a7 ot 2 i oI Aeetdl so1¢ aruel ciedl iz 329l ol fpal goraar 31 YIy ot 2 ToarféiRaa 3 3 olar forourcer aotie &
Dk g & 7

A. 34 Troaga TRl O Fenuar men oo el G amaeor ekl E

B. o wrt Roen sar 8, 3wl sy w1 dmas giar &

C. 35 or O sraar serar 33 9y o 31U 29T §

D. soroT 59 | UR QU 95l & e 7l et o sfawr # Reoen a1 g dsn

ol fou sre fepedl 3 3 At 30v @1 oo difen ©

[Question ID = 6371][Question Description = $3_qS5Nz_PG_PLS_Q62]

A, Band C only/zrm A, B 3iiz C [Option 1D = 24947]
B and C only/asmwr B diz C [Option 10 = 24948]

A, B, Cand Donly/A, B, C iz D [Option |D = 2494Y9]
C and D only/@e C 3fiz D [Option [D = 24950]

b B

63) Which of the following are the advanced ideas of Mary Follett?
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A. Functional Foremanship
B. Constructive Conflict

C. Zone of Acceptance

D. Integration

Choose the correct answer from the options given below:

forrmifertianT 3F 21 Stor 31 331 Uit wicle & oo Rz & 7

A, ysrfras widisi

B, o &5

C. whepf g

D. wblszor (29139161}

offa 126 s1e faaseal 3 3 Fa2 JUgED 3T I ade Hifery ¢

[Question ID = 6372][Question Description = $3_qSNz_PG_PLS_Q#63]
1. A and B only/daer A 35 B [Option ID = 24951]

2. Band C only/@ae B iz C [Option 1D = 24952]

3. Cand D only/aswe C #iz D [Option D = 24953]

4, Band D only/wae B sz O [Option 1D = 24954]

64) Which of the following are the schools of "New Right Ideology"?
A. Austrian school

B. Chicago school

C. Frankfurt school

D. New York school

Choose the correct answer from the options given below;

fergoiferiae 3 31 wiet "oma cidr Gt Rigia” (og w15t ansiElddisil) o1 aeor arch fRaeens @ & ?
A. 3iR<zm T

B. Brprit e

C. S Fagt

D. sogars ¥

sifl fow oo Rrpedl 3 3 A3 FUTs 3R ©1 el DIk

[Question ID = 6373][Question Description = $3_qSNz_PG_PLS_Q64]

1. Aand B only/dsm A d B [Option 1D = 24955]

2. Aand Donly/m A i O [Option 1D = 24956]

3. Band C only/a@=a B 4z C [Option ID = 24957]

4. A and C only/dam A 4z C [Option 1D = 24958]

65) Which of the following were/are wage development and infrastructure development programmes?
A. Crash Scheme of Rural Employment

B. National Rural Employment Guarantee Programme

C. Rural Landless Employment Guarantee Programme

D. Changes in Agronomic Practices

Choose the correct answer from the options given below:

Reafcifiaa d A wla ‘#wergd gl 3z srxizen o S orRlga & / 87

A. B oRwd Jiw F3da saciadic (ALet sREiv ASPIR Alsmoln)

B. st sywtion JsmiR sl ko

C. spafivr sif3diet e °1R<T wrRiaw

D. mititsmer ugh d ulvadsr

sifl fon oo Rrpedl 3 3 A3 TURs IR © e ik

[Question ID = 6374][Question Description = $3_qS5Nz_PG_PLS_Q65]
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A and B only/&am A iz B [Option 1D = 24959]
A and D only/@ae A diiz D [Option 1D = 24960]
A, B and C only/a@aem A, B 3fiz C [Option ID = 24961]
B and C only/@ae B stz C [Option [0 = 24962]

oW

66) Match List | with List Il

List | List I

A, Catherine MacKinnon |, Feminism is for Everybody

B. Susan Moller Okin |Il. The Dialectic of Sex

C. S. Firestone Ill. Toward a Feminist Theory of State
D. Bell Hook |IV. Justice, Gender and the Family

Choose the correct answer from the options given below:

it -1 B 3t -1l @ @R iR

et - | et -1

A, dDerftor didbloror |. ®fifersa v51 wiz caddist

B. 3pSicr Ao siifiet I, ¢ Siwcife siiw Jaa

C. vt orRiR Nl garset ¢ BRire w1 siiv Re
D. 3 &> IV, sifizw, 357 4 ¢ Biwedt

1A fow o1e Repedt 3 3 w18t 792 g

[Question ID = 6375][Question Description = $3_qSNz_PG_PLS_Q66]

A-1,B-11,C-1Il, D- IV [Option ID = 24963]
A-NIl,B-1V, C- I, D- I [Option ID = 24964]
A-IV,B-1Il, C-Il, D-1[Option ID = 24965]
A-1,B-1,C- D - IV [Option ID = 24966]

o B

67) Match List | with List [l

List | List 1l

A. Bureaucratic Terror I. Frantz Fanon

B. Cultural Revolution Il. Plato

C. Apartheid IIl. Mao Zedong

D. Allegory of Caves IV. Hannah Arendt

Choose the correct answer from the options given below:

I -1 B 3t -1l 2 gAfera B

et -| et -1

A. =PrRRwYR I mist Bt
B. weae fyaiegrer . @&

C. araifdfs 11, Jmwsit farcior
D. oRe# sifw Do IV. grom sivoe

of fon a1 famsedl & 21 @l saz giens ¢
[Question ID = 6376][Question Description = $3_q5Nz_PG_PLS_Q67]

A-IV,B-1Il,C-1,D -1l [Option D = 24967]
A-1,B-1,C-1Il,D- IV [Option D = 24968]
A-1,B-11,C- I, D- IV [Option ID = 24969]
. A-II,B-1V,C-1,D -1l [Option ID = 24970]

P it R

68) Match List | with List [l

List | List Il

Books Author

A, Fatawa-i-Jahandari |, Charles Bettelheim
B. Thoughts on Linguistic States|ll. M. N. Roy

C. India Independent Il. Zia Barani

D. The Future of Indian Policies |IV. B. R. Ambedkar

Choose the correct answer from the options given below:

et -1 @ et -1 B AR Hif

et - et -1l
A, WGl - © - SAgllcit P | o i v ot e
B. sifcet aifer RiffaReast seca Il. oa. oo, 3im
C. $Ren ferc . B szt

prepp
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D. 5 wyar sifw Rae diftiRaa V. & sz, srlds®

iy v s1e fgseal 3 31 78t 3a giew

[Question ID = 6377][Question Description = $3_qSNz_PG_PLS_Q#68]

1. A-1,B-1Il, C- 1, D- IV [Option ID = 24971]
2. A-NI,B-1V,C-1,D -1l [Option D = 24972]
3. A-1,B-1,C-1Il, D- IV [Option D = 24973]
4. A-IV,B-1Il,C-1,D- Il [Option 1D = 24974]

69) Match List | with List [l

List | List 1|

Authors Books

A, Lord Bryce |, Comparative politics-A Developmental Approach
B. Graham Wallace [Il. New Aspects of Politics

C. Gabriel Almond  [lll. Modern Democracies

D, Charles E. Merriam(lV, Human Nature in Politics

Choose the correct answer from the options given below:

2 -1 B 3t -1l 2 R Bifw

el -| et -1

A. o s I. wrRRa diftiw - v 3dawica s
B. sped dicisr |Il.ﬂmaﬁusﬂiﬁ1ﬁ?ﬂi

C. Sidiar arcaris 1. Frsof 3ABR

D. arcaf & o ||V, mwior 9 s ditiRaa

of o a1 farsedl @ 21 w1l saz giene ¢

[Question ID = 6378][Question Description = $3_qS5Nz_PG_PLS_Q69]

1. A-1,B-11,C-1ll, D- IV [Option 1D = 24975]
2, A-NlIl,B-1IV,C-1,D -1l [Option ID = 24976]
3, A-IV,B-l, C-Il, D-I[Option ID = 24977]
4, A-1,B-1,C-IV,D- Il [Option ID = 24978]

70) Match List | with List [l

List | List 1l
A. SALT-I 1. 1987
B, SALT-II 11, 1990
C. START-I . 1979
D. INF Treaty IV, 1972

Choose the correct answer from the options given below:

et -1 ot et -1l 3 ghfer i

et -l e -1l
A. airce - | . 1987
B. wree - Il Il. 1990
C. ¥ - | I, 1979
D. a oo ww IV. 1972

iy v s1e fseal 3 31 78t 3a giew

[Question ID = 6379][Question Description = $3_qSNz_PG_PLS_Q70]

1. A-I¥,B-1ll, C-1l, D- | [Option ID = 24979]
2. A-NI,B-1I,C-1, D- IV [Option ID = 24980]
3. A-1,B-1Il,C- IV, D- | [Option ID = 24981]
4. A-1,B-11,C-1ll, D- IV [Option 1D = 24982]

71) Match List | with List [l

List | List 1l
A. Basic Exchange and Cooperation Agreement|l. 2004
B. Indo-US Civil Nuclear Deal 1. 2002
C. High Technology Cooperation Groups i, 2020
D. Next Steps in Strategic Partnership V. 2005

Choose the correct answer from the options given below:

et -1 @ et -1l A AR B

et -l
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A. afrrs vawdis vus wistiddemsr wfic . 2004
B. 2SI - 71, wal. BT safaerer dia II. 2002
C. ¥ Rarilcifslt 3t aifadert o IIl. 2020
D. stazc Rt ol TRID UoridIT IV, 2005

oY R a1 [amcddl A 9 2l sme afn :

[Question ID = 6380][Question Description = $3_qS5Nz_PG_PLS _Q71]

1, A-1,B-1ll, C- IV, D -1l [Option ID = 24983]
2, A-I,B-1,C- I, D- IV [Option ID = 24984]
3,

4. A-1,B-1V, C- i, D- | [Option ID = 24986]

A-I¥,B-N,C-Il, D-I[Option ID = 24985]

72) Match List | with List [l

List I

List Il

Forms of Government

Essential features

A, Cabinet Government

|. Separation of powers

B. Presidential Government

Il. Collective responsibility

C. Federal Government

lll. Concentration of powers

D. Unitary Government

IV. Division of powers

Choose the correct answer from

it -1 B 3t -1l @ @R iR

the options given below:

ot -| axeht -l
(F3w1E B TaE) |(siforem=d Rrdraemd)

A. sifpisdia weor Il ot o1 Ridicer

B. sreasivas Ay |II. AR ol
C. daraA® T |III. orftpl @I Dogimaul

D. vipram J3an

|IV. oIfv DRIl w1 TusiIsTot

iy v o1e fseal ¥ 31 18t 3a giew
[Question ID = 6381][Question Description = $3_qSNz_PG_PLS_Q72]

1.
2
3.
4.

A-lIl,B-1V,C-1,D -l [Option ID = 24987]
A-1,B-1,C-1V,D- Il [Option 1D = 24988]
A-1,B-1Il,C-1Il, D- IV [Option D = 24989]
A-IV,B-1Il,C-1l, D-I[Option ID = 24990]

73) Match List | with List [l

List |

lList 1

Author

|Bnuks

A, Rabindra Ray

I. The Naxalites and their ideology

B. Ashish Kumar Roy

|II. The Spring Thunder and After

C. Carole Spary

|III. Gender, Development and the State in india

D. Sanjay Kumar (ed)

|IV. Indian Youth and Educational Politics

Choose the correct answer from the options given below:

it -1 B 3t -1l @ AR iR

et - areht -1l

(za01°51?) (graas)

A, dieg ¥ Il. & sia@aECH s g ansiSlciisl
B. amelta wans irx . g ot 2is? O3 snTey

C. &ae ¥af lll, sisz, 3acadic Us € ¥ o 3

D. s=r war (31.)

IV. 3ot gr o saRrda iR

iy v s1e famseal 3 31 18t 3w giew

[Question ID = 6382][Question Description = 53_qSNz_PG_PLS_Q73]

1. A-1,B-1l, C-1Il, D- IV [Option ID = 24991]
2. A-1,B-1,C-1V,D- Il [Option ID = 24992]
3.

4, A-IV,B-NIl,C-1,D -1l [Option 1D = 24994]

A-NLB-1V, C-1, D-I[Option 1D = 24993]

74) Match List | with List [l

List |

IList 11

A. Decision Making

|I. Fred Riggs

B. Ecological Approach

|I |. Edward Wiedner
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IC. New Public Administration lll. Herbert Simon
D. Development Administration |IV. Minnowbrook Conference 1968
Choose the correct answer from the options given below:

et -1 ot el -1l 3 ghfer i

et - | et -l
A. faftorer Afser I. & s

B. seidifrser gk Il osars Aser

C. 7 ulcrs vsfiRniem 11, zé i

D. Sdreraiie osfifdreer IV. Broshges wicd¥a 1968

iy v oo famseal 3 31 7t 3w giew
[Question ID = 6383][Question Description = $3_qSNz_PG_PLS_Q74]

1. A-1,B-1l, C- I, D- IV [Option ID = 24995]
2. A-NI,B-1,C-IV, D -1l [Option ID = 24996]
3. A-1,B-1Il,C- IV, D- 1 [Option ID = 24997]
4. A-IV,B-NIIl,C-1,D -1l [Option 1D = 24998]

75) Match List | with List [l

List | lList 1

A. Insurance Regulatory and Development Authority Act |I. 1988

B. Reserve Bank of India Act . 2003
C. Fiscal Responsibility and Budget Management Act |III. 1999
D. Prevention of Corruption (Amendment) Act |IV. 1934

Choose the correct answer from the options given below:

IRt -1 @ et -1l 3 AR Hif

et - Ryeft -l
A. Fogiw WCK] U3 Jaonadic il wae 1. 1988
B. frod S siiw 33 ware Il. 2003
C. fisrowa Predifsataler® ds gse Jorsnic vac ., 1999
D. didgra sliw o (sEisde) vac V. 1934

oftar v =1 fraseal & I = sav ofene .

[Question ID = 6384][Question Description = $3_q5Nz_PG_PLS_Q75]

. A-1ll,B-1¥, C-1l, D-1[Option ID = 24999]
A-1,B-1l,C-1Il,D- IV [Option ID = 25000]
A-IV,B-1Il,C-Il, D-I[Option ID = 25001]
A-11,B-1V, C-lll, D- I [Option ID = 25002]

oW 2 =

76) Arrange ideological focus of the Feminist movement under different stages in chronological order
A. Focus on right to vote for women

B. Focus on social and economic equality
C. Focus on culture and context
D. Focus on Ecofeminism

Choose the correct answer from the options given below

fafooer vl 3 sRlaE! sicicel © Rarem Fed D¢ ar o orrpagRR wraieaa bifens :
A. sfdcmail o amfireR Sol v ||

B. wranfers aun i Feimem uw sa

C. Fivgpler aen woo uz @

D. uzleun - sidlarc (3wl Bhibea) 4z aa

il fou =g fepedl 3 3 AT 30 @1 awer difens ©

[Question ID = 6385][Question Description = $3_qS5Nz_PG_PLS _Q76]

1. A, B, C, D [Option ID = 25003)
2. D, C, B, A [Option ID = 25004]
3. B, C, D, A [Option ID = 25005]
4. C,B, A, D [Option ID = 25006]

14 14

77) Arrange the work of Hannah Arendt in ascending order
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A. The origin of totalitarianism
B. The Human Condition

C. On Revolution

D. On Violence

Choose the correct answer from the options given below

Zallol M¥esc ol Feliadl ol ARE! o A caalien Hifee |

A, g afifore affw deferefsaforsa

B. T gio1 o3l

C. sifor frdfeyeret

D. aifor arccia

ol 16 s1e faapeal 3 2 Hl Fre o wr’Iol Hife

[Question ID = 6386][Question Description = $3_qSNz_PG_PLS_Q77]

B, C, A, D [Option ID = 25007]
D, B, C, A [Option ID = 25008]
A, B, C, D [Option ID = 25009]
C, B, A, D [Option ID = 25010]

o R

T

78) Arrange the following books written by B, R, Ambedkar in an ascending order
A, Gandhi and Gandhism

B. The problem of the Rupee: Its origin and its solution

C. The Buddha and His Dhamma

D. The Rise and Fall of Hindu Woman

Choose the correct answer from the options given below

&Y, ame. aadsw: g fftaa Brefaliaa gaaest ©f sod aRd o I cafiea S
A, srieht ds sniefin

B. g diec iiws © Bl 1 sga afiforer ds sga Aeggret

C. T gg us 29 el

D. T wzs Us wier 3w féog, giter

oller 16 s1e faaseul 3 21 Ha Fre o or’Ial Hife ;

[Question ID = 6387][Question Description = $3_qSNz_PG_PLS_Q78]

1. A, B, C, D [Option ID = 25011]
2. B, D, C, A[Option ID = 25012]
3. D, A, B, C [Option ID = 25013]
4. C, B, D, A [Option ID = 25014]

79) Arrange chronologically the following books in order of their publication:
A, Contemporary Political Analysis by James C Charlesworth

B. Modern Political Analysis by Robert A, Dahl

C. The Process of Government by A, F, Bentley

D. A System Analysis of Political life by David Easton

Choose the correct answer from the options given below

foraifertiaa gzorpl ©1 Joids Yopiolal & Dlcrad 3 caalierT Hifaw ;

A, S . ared ad, B weeadl difakRoa vl

B. 7@ u. 33d &1 siisel diftifeasa wanfarfir

C. U - U dcor B § Qi e sraeiiic

D. s grea &t ¢ Rivew gorarsRna sife Oiftiftwa ase

il R o1e Rraseal 3 A w8 37 w1 9rer Hifsre @

[Question ID = 6388][Question Description = 53_q5Nz_PG_PLS_Q79]
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E, C, D [Option ID = 25015]
, D, C, A [Option ID = 25016]
B, A, D [Option ID = 25017]
C, B, A [Option ID = 25018]

gre it
0N W

80) Arrange the following international treaties in chronological order:
A, Charter of the United Nations

B. Treaty of Westphalia

C. Treaty of Versailles

D. Treaties of Utrecht

Choose the correct answer from the options given below

forraiferfian siawaredlsr FftEl o SrommgaR cafterT Hifay

A. FED e HY I a3

B. Svcwrchtan &t wifly

C. g 6t wfdr

D. gz &t vt

il R oo Rraseal 3 A w18 37 w1 9rwer Hifsre @

[Question ID = 6389][Question Description = $3_q5Nz_PG_PLS_Q80]

1. A, B, C, D [Option ID = 25019]
2. C, B, D, A [Option ID = 25020]
3. B, D, C, A [Option ID = 25021]
4. C, A, D, B [Option ID = 25022]

81) Arrange the signing of the following agreements by India in order of their appearance:

A, Land Boundary Agreement

B. Tashkent Agreement

C. Moscow Test Ban Treaty

D. India-Russia Friendship Treaty

Choose the correct answer from the options given below

W 131 srengiz oo s BrrafaBaa ausiial of sad goce © g # saafera Hifse

A. 3 ~ it Farsiton

B. mowe wastiar

C. ) 2 dar B2

D. snza w=a Jdg) =i

oiiel fu s1e Rraseal A 1 #dl 3a7 w1 awua Hifow ©

[Question ID = 6390][Question Description = 53_q5Nz_PG_PLS_Q81]

1. C, B, D, A [Option ID = 25023]
2. B, C, A, D [Option ID = 25024]
3. A, C, B, D [Option ID = 25025]
4. C, D, A, B [Option ID = 25026]

82) Arrange the following in a chronological order
A. Communal award

B. Simon Commission
C. First Round Table Conference
D. Gandhi-lrwin Pact

Choose the correct answer from the options given below

foraifertiaa @t o oaeAR waided S ;
A, BRI aard

B. s=aot walors
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C. Qe 3ads JFicol

D. srich sker araf

il R 1w Rraseal 3 A1 w18 37 w1 rwer Hifsre @

[Question ID = 6391][Question Description = $3_q5Nz_PG_PLS_Q82]

1. A, B, C, D [Option ID = 25027]
2. B, C, D, A [Option ID = 25028]
3. C, D, A, B [Option ID = 25029]
4. D, A, B, C [Option ID = 25030]

¥ A

83) Arrange the following labour unions according to the year of their formation in descending order
A, INTUC

B. Ahmedabad Textile Labour Association

C. Bhartiva Mazdoor Sangh

D. Bombay Mill Hands Association

Choose the correct answer from the options given below

forraifeil¥an s=gz wiHl (Taw gferadl) @1 Iord s0d @ ad @ RIS T | wmiFua B :
A. zoico

B. smHcrme aeagplitnr Ha (A CuFeclsd ol THIRITIG)

C. urita o151z 3|

D. =4 [rer g5 wall¥ere .

ol fou =g fepedl 3 31 At v @1 awe difen ©

[Question ID = 6392][Question Description = $3_q5Nz_PG_PLS Q83]

. C, A, B, D [Option ID = 25031]
A, B, D, € [Option ID = 25032)
D, A, C, B [Option ID = 25033)
B, D

1
2
3,
4 , A, C [Option ID = 25034]

84) Rensis Likert has identified four systems of management on the basis of nature of authority and control of organization.
Arrange in ascending order of efficiency

A, Benevolent-Authority

B. Consultative Leadership

C. Participative

D. Exploitative Authoritative

Choose the correct answer from the options given below

Yol Rresd o vivioar @ Faz aur Breger OF Faea & 4R T ghis © gpltal & asara 5§ 358 corar @ ndd o A safiaa St
A. RBawrit FamEt

B. Reekprll sigear

C. Henei

D. gii9vRpTer AATEGE

ol f8u a1e Repodl d 31 718t 3 o1 aus &l

[Question ID = 63923][Question Description = $3_qSNz_PG_PLS_Q84]

1, A, B, C, D [Option ID = 25035)
2. D, A, B, C [Option ID = 25036]
3. C, B, A, D [Option ID = 25037]
4. B, A, C, D [Option ID = 25038]

85) Arrange the following books according to the years of their publication
A. Dror, Yehezkel. Public Policy Making Re-examined

B. Dye, Thomas R. Understanding Public Policy

C. Bhattacharya, Mohit. New Horizons of Public Administration

D. Anderson, James E. Public Policy Making
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Choose the correct answer from the options given below

Ferraftiaa Yol @ 3ord geoient & ad @ agar wabea i :

A. 3R, dureda "ultorr diftrl ARpeT Rrersnfiis"

B. s1¥, e amz. "siseeiEer ultorr dikzi”

C. szrmmrd, afda, "=y dlerssea diw ulfar wshifeea”

D. ds3a, s €, "ulferr diferit afRkest"

ol f8u a1e Rrpedl d 31 w18t 3 w1 ags &tk

[Question ID = 6394][Question Description = $§3_qSNz_PG_PLS_Q85]

1. A, B, C, D [Option ID = 25039)
2. B, D, C, A [Option ID = 25040)
3. B, A, D, C [Option ID = 25041]
4. D, C, A, B [Option ID = 25042]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: B. R. Ambedkar was critical of the existing federal structure

Reason R: The local self-governments neither have legislative power nor executive power in the real sense of the term,
according to Ambedkar

In light of the above statements, choose the correct answer from the options given below

oflA &) weror Ru s1w ¥ : wes afdeoaer (A) @ wa 3 fRifaa 3 & gaw 3ad oo (R) 5 wa # :

sfiresera (A) @ @ e s adao Tdta 1 @ e &

ot (R) © 3adsas O M6IAIE, TRl ¥ - el @ arH areaa | of Al Rl ot 3 ot 8 orkord eiftsai
FOs waell O sirerr i, sl Ru s1e Rosedl | A A9A 3agws v o g96 SifSe

[Question ID = 6395][Question Description = $3_q5Nz_PG_PLS_Q86]

Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) arx & 4z (R), (A) S =@ s £ [Option 1D = 25043]

Both A and R are true but R is NOT the correct explanation of A/{A} itz (R) S5l 30 & uweg (R), (A) & 38 == ot £ [Option ID = 25044]
A is true but R is false/{A) sra &, oiftpm (R) s & [Option 1D = 25045]

A is false but R is true/{A) serea 8, oieer (R) sra @ [Option ID = 25046]

oW =

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: John Locke was portrayed as possessive individualist

Reason R: John Locke was not in favour of merely maximising interest

In light of the above statements, choose the most appropriate answer from the options given below

oA &) weror Ru s1w ¥ : ww afdroaer (A) © wa 3 fRi¥aa 3 o gaw 39 oo (R) 5 wa # :
sifirwerst (A) : Siiar dios Facacas wivard) gefdia Rvar srn § ?

szt (R) : Siter sifos avaa Bal @t gfiy o asier o5t 9

IR well @5 areld #, okl v s1iv Reveal # A a9d yagmr 3av w1 a6t Sifse :

[Question ID = 6396][Question Description = $3_q5Nz_PG_PLS_Q87]

Both A and R are correct and R is the correct explanation of A/(A) 3z (R) owdl =t & afiw (R), (A) & &t sumsr € [Option ID = 25047]

Both A and R are correct but R is NOT the correct explanation of A/ (A} 4z (R) Siet ardt & uweyg (R), (A) & st s ol & [Option ID = 25048]
A is correct but R is not correct/(A) 22t & ey (R) erft =t & [Option 1D = 25049]

A is not correct but R is correct/{A) 2t =08t € womgg (R) =t & [Option 1D = 25050]

P

88) Given below are two statements
Statement I: Issues of peace and security are decided by 2/3 majority, including five permanent members, by the UN

Security Council
Statement |I: UN Security Council represents all regions of the world in adequate manner

In light of the above statements, choose the correct answer from the options given below

oA &) weor Re s ¥ ;
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areret - | 1 giifer Jfi7 wzen wgel aell av Yeer aeg Wy @ din Faril ol Afda &1 - ferd agval © ggaa A fokr Rrar soar 3
weret - 1 @ g, ot gean abae gata va # fra @ w8 a6 o ofefsiira o 3

FRITG WUl @ AERe #, oI By 9w Rroodl # 3 A93 3WRpr 302 ©1 @i Sifse :

[Question ID = 6397][Question Description = $3_qSNz_PG_PLS_Q88]

Both Statement | and Statement Il are true /=@ | 42 |l gl Ay & [Option D = 25051]

Both Statement | and Statement [l are false/oem | iz || 3 ameg & [Option 1D = 25052]
Statement | is true but Statement |l is false/=u= | =09 € |, Foeg == || smcg  [Option 1D = 25053]
Statement | is false but Statement Il is true/mee | sera 2 , Brog @ua ||l s/a & [Option 1D = 25054]

T e

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: India supports global nuclear disarmament, but wishes to retain the option of "credible minimum deterrence’
Reason R: Indian nuclear policy is rooted to meet, both its global and regional concerns

In light of the above statements, choose the most appropriate answer from the options given below

ofla 5t e Ru o1e 2 1 wop alSroeret (A) @ wu 3 Rilaa 2« oz 3w orw (R) dwa d :

sif¥rnert (A) @ R GFfas e B keIvn @1 el W &, Ueg 3ehbl 3T & Kb ag "farasel< sgprad giveier ©I kicooa 9t 3=
vl (R) : sl geanyg S0 3eht Gfaw Jfiz AdiRr Rivsil ot o7 o0 vz Biga &

IR el D AKIKD &, ikl By v1e Rodl 3 A =31 Ju=gyr 32 @1 g9l Gifew

[Question ID = 6398][Question Description = $3_qSNz_PG_PLS_Q89]

Both A and R are correct and R is the correct explanation of Af(A) siiz (R) si=f =8 £ gliz (R), (A) &t 38t moz=n 2 [Option 1D = 25055]

Both A and R are correct but R is NOT the correct explanation of Af{A) dix (R) =it =t 2 womg (R), (A) 5t ot seem st 2 [Option 1D = 25056]
A is correct but R is not correct/{A) adt & wieg (R) 3@ =l £ [Option 1D = 25057]

A is not correct but R is correct/{A) =t =&l & uierg (R) =&t £ [Option 1D = 25058]

O

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: India is illustrative of 'holding together' federation due to circumstances in which centre agreed to 'devolve'

power for holding the federal units together

Reason R: This asymmetry of power division, along with era of coalitions and weaker governments at centre, let to assertion
for demand of autonomy by states

In light of the above statements, choose the correct answer from the options given below

i1 <1 ot Ru s 3 s aifirdseret (A) & w=u ¥ faffaa 3 &t gz 33 o (R) S =a & |

atfireperer (A) © ror afdfFaferil 3 3k ToEl ®©f Uhee el @ e dig orfib @ 'Fxdiazor o [ée A1z gan, Jolds IR0l HIE 'Thec
FEOIaICl’. T I Toid &

@RI (R) : sodtnl Yol 3l wmhg dA TrsiE PRI D glel & A1l 9T Risista Bl 521 il @& @R =<l ZR1 Farrdr @ #iet @ smol
5 i §

IURID DGl B AcirD 3, iy Gy 71e frsedl 3 3 7a3Y SUEd 3w &l o:iel Hifsg |

[Question ID = 6399][Question Description = 53_qSNz_PG_PLS5_Q90]

Both A and R are true and R is the correct explanation of A/ (A) dfiz (R) gt 3wa £ 4w (R), (A) & =t emer & [Option ID = 25059

Both A and R are true but R is NOT the correct explanation of A/{4) iz (R) g wra & uamg (R), (A) @5 7 = st & [Option 1D = 25060]
A is true but R is false/(A) = &, digrar (R) sz £ [Option ID = 25061]

A is false but R is true/(A) sew &, afsa (R) = & [Option (D = 25062]

bl D

Tapic:- 2 Political Science_B

1) Read the following passage and answer the gquestions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable,
Marx did not say much on the role and position of women. He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of

women.

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
Kugelmann in 1868 that social progress could be assessed exactly by the social position of women. In 1845, Marx warned
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against treating the family regardless of its specific historic setting. In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money.
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According to Karl Marx, women emancipation can be judged from which of the following?

DIcl A B IR, Rl dfte o it Besifcilaa # 3 eewd s Rear sn seoan & ?

[Question ID = 6400][Question Description = $3_qSNz_PG_PLS_Q91]

1. Division of Labourfggr @1 Famea [Option 1D = 25063]

2. Means of Production/zmege @ smm [Option ID = 25064]
3. Class Character/asf figmear [Option 1D = 25065]

4, General Emancipation/smesa #kr [Option ID = 25066]

2) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable,
Marx did not say much on the role and position of women. He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of
women.

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
Kugelmann in 1868 that social progress could be assessed exactly by the social position of women. In 1845, Marx warned
against treating the family regardless of its specific historic setting, In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money,
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Prior to Marx, which political thinker had a gender bias in his/her writings?

i & gd foom weeifere Rias & raomsit & Risr o gfar galee Braarn 87

[Question ID = 6401][Question Description = $3_qSNz_PG_PLS_Q92]
1. Hegel/dem [Option 1D = 25067]

2. J.S. Mill/3t e fer [Option 1D = 25068]

3. Plato/w@ [Opticn 1D = 25069]

4. Mary Wollstonecraft/3f diczesme [Option 1D = 25070]

3) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable.
Marx did not say much on the role and position of women, He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of
women,

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
Kugelmann in 1868 that social progress could be assessed exactly by the social position of women, In 1845, Marx warned
against treating the family regardless of its specific historic setting. In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money.
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Write the full name of Engels’ book "Origins"?
Siirca ot g MsiifiBea” w1 gu smw mn d 7

[Question ID = 6402][Question Description = $§3_qSNz_PG_PLS_Q93]

The Origins of Family and the State /s Aifbfes st 6wl ¥ g zé [Option 1D = 25071]

The Origins of Family and Private Property/ s sl siw $iEc v geie guel [Option ID = 25072]

The Origins of the Family, Private Property and the State/g il sifw & B, ysic ydt v & = [Option 1D = 25073]
The Origins of Family and State Property /o sif¥swa sfir St oo 32e viwe [Option ID = 25074]

L kad RJ

4) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable,
Marx did not say much on the role and position of women. He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about., Marx did not focus his attention on the position and role of
women.

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
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Kugelmann in 1868 that social progress could be assessed exactly by the social position of women. In 1845, Marx warned
against treating the family regardless of its specific historic setting, In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money,
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Social position of women vis-a-vis family can be judged by which nature of the family?
uf¥anz 3 aifgenait &1 wente Rl o otz uf¥ar & e ymia g fear s a2 7

[Question ID = 6403][Question Description = $3_qSNz_PG_PLS_Q94]
1. Educational background/ ditdmr gusrfFr [Option 1D = 25075]

2. Historical setting/ifefes ammzn [Option 1D = 25076]

3. Number of family members/of¥ar & sl &1 == [Option ID = 25077]

4. Income of the family/ufsmz i amer [Option 1D = 25078]

5) Read the following passage and answer the questions given below

Like in many other areas, even with regard to the question of women, Marx made Hegel the starting point. Hegel regarded
women as inferior, with less reasoning abilities, seeing the natural differences between men and women as immutable.
Marx did not say much on the role and position of women, He took it for granted that Socialism would bring about their
emancipation. In the German Ideology and the Capital, he spoke of the natural and spontaneous division of labour within
the family. The natural relationship paved the way for social one, and the first property relationship was the one when the
man regarded his wife and children as his slaves. The man had power over them, and could do with their labour as he
chose, though Marx did not explain how this came about. Marx did not focus his attention on the position and role of
women,

Engels, in the Origins, provided a materialist account of the origins of patriarchy, and linked women's subordination with the
rise of private property. In the Holy Family, Marx and Engels observed that the degree of emancipation of women could be
used as a standard by which one could measure general emancipation. Marx reiterated this view in a letter to Dr. L.
Kugelmann in 1868 that social progress could be assessed exactly by the social position of women, In 1845, Marx warned
against treating the family regardless of its specific historic setting. In his criticism of Max Stirner (1805-1856), he observed
that it was a misconception to speak of the family without qualification. Historically, the bourgeoisie endowed the family
with the characteristics of the bourgeois family, whose ties were boredom and money.
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What has been the general understanding about women’s emancipation under Marxian philosophy?
ARG colel A ol ARG @ Hder d Ao J39E I 8 7

[Question ID = 6404][Question Description = $3_qSNz_PG_PLS_Q95]

Marx understood the women's position very correctly /el o mfizenail @51 Befer aga 2 sweh <t [Option ID = 25079]

Marx did not analyse women's condition beyond socialism /st st sidomaii o5t frelfy @ Rredwn smrerns 3 @z @@t fen & [Option 1D = 25080]
Due to class division, women got inferior status/asf Femsa © wru Attt o beere out Ber [Option ID = 25081]

Men and women had equal status/ gl fen sfzensd ©! 3@ o= fen en [Option ID = 25082]

o kad R

Tapic:- 2 Political Science_C

1) Read the following passage and answer the questions given below

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates. Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin' (GOPIO) in 1989, and the establishment of the 'India Caucus' within the US Congress in 1993, While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland. GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin' card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998. The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the 'Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland. It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium,

ferraferfiae sterion o sarargde ufew iz offa e s1g qestl @ saz b :
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Why debate on Indian diaspora got prominence for India's foreign policy makers?

e @ [Rdor shifer fBrafarsii @ fere sindi qarel a9 a3 & 738 asa @t ol gaa el ?

[Question ID = 6405][Question Description = 53_q5Nz_PG_PLS_Q9%96]

1. Due to changed political milieu in the USA /s, oo o & a=elt ot wesiitrr af¥fiel® o oo [Option 1D = 25083]
2. India’s economic thrust towards West Asia/aftslt oforn o gfft smem o0 aniéfs w=ma [Option 1D = 25084]

3. Resurgence among the Indian Community/ s JgeR F gerseena [Option ID = 25085]

4. Compulsions of the Globalization process in India/ s 3 Ssdisszor gitgen &t wegfe [Option 1D = 25086]

2) Read the following passage and answer the questions given below

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates. Developments within diaspora communities, particularly in the
United States served to facilitate this process, Chief among them was the creation of the 'Global Organization of People of
Indian Origin' (GOPIO) in 1989, and the establishment of the 'India Caucus' within the US Congress in 1993, While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious pelitical actors in their adopted homeland. GOPIO
members, for instance, Kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin' card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998. The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the 'Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland, It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium.
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yitreg 2 ae Ul gidegan & forer snedi Avon & iR oiw Aasged! # AuEiyd U 3 Al Yol [ Sisll A9Rs oI

What has been the task of 'Global Organization of People of Indian Origin’ (GOPIO)?
' sgitae Aisiagsiom 3w diva Jdiw e e’ (GOPIO) ot ol e w1 & 7

[Question ID = 6406][Question Description = $3_qSNz_PG_PLS_Q97]
1. Articulate the demands of NRIs/taeit st <&t wilsli @y Yo o2an [Option 1D = 25087 ]
2. Representing articulated interests of various people of India origin/ s 751 @ fiftea ol © Facdiaa Bl o gifEira oo [Option 1D = 25088]
3. Increase in Indian cultural activities/smeril AFpfire frmmerd 3 afp [Option 1D = 25089]
4. Linkage between Bollywood and Holywood ffrigs i Sicigs @ dia s [Option 1D = 25090]

3) Read the following passage and answer the questions given below

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates, Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin' (GOPIO) in 1989, and the establishment of the ‘India Caucus' within the US Congress in 1993, While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland. GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin' card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998, The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the 'Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland. It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium.

forraferfian srerior @) earorgdes ufew aitz o 2 1o geal & Iae difo ;

1990 & gorp @ Jivral sl I &1 3o garil Soiadg o AT Hde &1 Yo - foad e 3 ascer sel = 3R o s a1 Sattder & &
I & - O 9 Uol: - oiifel - Fsitlt agn 9 39 aewme s yardt ekl #, Rdaae s I ety #, Shormal aceras # s3 giezn wt
o o2 e zor weoail 3 garm & 1989 3 "sollaa siisTonsorera sifw diue sifw 2f3wm sififorer’ (GOPIO) @1 aeirn wimen iz 1993 3 sl
Wie) O sige "Fi¥en wiwa' O Fargen Srfs asdl Feroet of Rilfeer Ageril o Bal ol o I A giee wr grira R, g3 FHeroet of sadl
NIl SR b szt gareil 319g @1 o 3 A UE 961 UHT 81 Al & =l 3ol oIl AU 31 391 3 INTd Aol ARKDal 81 Joewl
fere GOPIO @ w1gz=il or 1990 @ o & W 3 oIFT AIBR & AT ¢ el dad! H "uzla siiw f3we sdififse’ (PI0) & o1 faar granfaa
e gl F3g @ Ridg Ferel 1 ATUPR Al Sol © e ®I St I JTD < IARRpT © 363 M 3d D IEeiirs 7a A Afiga
dfdical sl AP & arga: yaw! Jd 71e, fadea: 1998 & anfirbrr adftewil & arg &1 aiifiefa # s 7= sifYesT g adiswil &
ar aee a1 e gftrdelt ot wa ol 3 sa angl @ Tade o, iz Ty & gfrel © T woos @ fore snfinbir aflgoli © gia @ sira
MR R Gl e a1w Teesie si3ar aist @ gl ideme e soid Scetie ©l, F3R0I #erayyl 2o Al 311 kb garil 214z Facu @ i avaa
gftrag 3 ws Ol gitrrgar <t B33t sl T @ saar ae @sgredt #@ siiamfye wa 3 areen gerer o sraer s ar

What is the main task of 'India Caucus'?

i siew’ o T SRf Fan & 7

[Question ID = 6407][Question Description = 53_qSNz_PG_PLS5_Q98]

1. Toinfluence US policy making toward India/¥ vx o =fifer fommior oY s &5 war & ganfam osxan [Option 1D = 25091)
2. To form union of PIOs/ sl oo & waferel (P10s) @ S semen [Option [D = 25092]

3. To act as a linkage between PIOs and Government/PIOs sfiz 3o & e &3t o @m0 @5on [Option 1D = 25093]
4. To provide feedback to the Indian Government /s F7wR o yFfier (F=de) 3ar [Option 1D = 25094]

4) Read the following passage and answer the questions given below



www.prepp.in .repp

Your Personal Exams Guide

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates. Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin’ (GOPIO) in 1989, and the establishment of the 'India Caucus' within the US Congress in 1993, While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland, GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin' card in their meetings with Indian government representatives in the mid-1990s.
Within the United 5tates, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998. The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the 'Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland, It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium,

Rratalan == @ samgde ufge sfiz oA Ry se gesl @ o dfm

1990 D corp @ Siera HIRT IS @1 s JaRil STEE O AT A& @ gos - Brerd Rerr # usar s e srn o0 B seot waldr sa &t
ool 2 - U |7 Uph: - oitfer - Fdedl gew 3 el 9ems amen  gardl wgerl 3, Ridvae: Ay ws spifyt , Soyar aceragd # T3 gitg @
o w2 Bar s geonsilt 3 g 4 1989 4 "saaa siistanssierm site diae sifw £Rwrer snfyfEer’ (GOPIO) @t garan snan Az 1993 3 sl
DieH @ dice S5 wivd &l Fenusn SEis s Heed ol [l Agerl & f2dl o v g A ditrel o YarA [ea, 3 Hs10d o bl
Fsireron sreid B snelter gt s o wa A wn v wel T 8 Fevan S a6t ore g6 eTe 391 A A6t Al abinsal 8t Sorsver @
fere GOPIO @ wigz=ai ot 1990 @ sorw & #1tA 3 M IR T AT §F U6l domwl 3 "wia e e difyter (PI0) o @ far gralka
DT garit Tg 9 9y FeIrel ©l ATARKT Aol Sol & ool @ Sifad I I I AAR® & aics s o @ weEiioe =0 3 Ak
didtesal szl FewR @ argo: gaw! ad =19, Rdaos 1998 @ snficfer afteren @ e & aifBefr & g asa Aot o aftewr o5
an a1 anfefes gftdel o oo ozl 3 53 JgEl © aada o, iz arg 8 gkl of 3z aoa o e enficbr udtewil & gia ai snea
H¥E1E Fra skt Boe o1 Rerste i3en’ aist @ gty Rene s1e sers seans o, saa wsvagui el sen SR By gaeft e macr o [oe aaa
gtz & as W3l gitmgar o Rl sl 33eR @ I0AR 51T ARG # Aias 30 3 Al Yolol K Seil IaeRn U1

Which organization gave the idea of issuing 'PIO Card’ by Government of India?

A F30R gRI PlO 3 sl Ree sl @t kAR fea demwa of Bar?

[Question ID = 6408][Question Description = $3_qSNz_PG_PLS_Q99]
1. GOPIQ/GOPIO [Option ID = 25095]

2. India Caucus/<f=n wkwa [Option D = 25096]

3. Indo-US Association/swsT - T =im [Option ID = 25097]

4, NRIls Association/eesmzam. 3 [Option 1D = 25098]

%) Read the following passage and answer the questions given below

Over the course of the 1990s, the question of the Indian state's relationship to the diaspora-formerly treated as more or less
settled-once again came to the forefront of policy debates, Developments within diaspora communities, particularly in the
United States served to facilitate this process. Chief among them was the creation of the 'Global Organization of People of
Indian Origin' (GOPIO) in 1989, and the establishment of the ‘India Caucus' within the US Congress in 1993. While the former
served to provide a semblance of coherence to the interests of a variegated community, the latter suggested the potential
for at least a section amongst the Indian diaspora to be conscious political actors in their adopted homeland. GOPIO
members, for instance, kept alive the question of institutional recognition of the special place of the diaspora by proposing
the idea of a 'Person of Indian Origin' card in their meetings with Indian government representatives in the mid-1990s.
Within the United States, politically active lobbyists of Indian origin became de facto spokespersons for the then Indian
government, particularly in the aftermath of the nuclear tests of 1998, The support of these groups in mitigating the post-
tests economic sanctions imposed by the United States, along with their enthusiastic response to the 'Resurgent India’ bonds
issued by the Indian government in the immediate aftermath of the nuclear tests as a measure to withstand the sanctions,
was cited as an important indication of the continued commitment of the diaspora to the homeland. It was a commitment
that according to the Indian government needed to be officially recognized in the new millennium.

forraterfian srerior @) carorgdes ufew aitz oo 2 s1e geal & o= difom ;

1990 & gorp @ Jivrel M I &1 3o garil Soiadg o AT Hde &1 Yrdd - oo e 3 aacr ser = SR o s a1 Sattder &1 &
T & - O 9 Uol: - oiifel - Fsielt ags 9 309 aewme s yardt Feerll #, Rdaas FRps I et #, S aceras # $31 giezn @t
I &2 G 3o aconal A ygza & 1989 ¥ 'seilae siflemsstora aiiw diuea 3w $i3we af¥ferar (GOPI0) &1 aorar s 3tz 1993 3 aifsbt
WP OF 3ig? Fiar oA’ f ruraen SRy asdl Horoet of Riffieer Aacrl @ Bal ol ow g # aioet wr grira R, Tas deroer of sardt

3ol SR b sl garRil 39 o1 @ 3 O Wo 951 DT 81 AWl & Sl 31Ul 51T 3IUSIIE 31 S¢1 3 I Asoiliie IBRpal 81 o T
fere GOPIO @ w1gz=il or 1990 @ o & W 3 oIFT FAIBR & AT g% el dod! H "uzla siiw f3we sdififse’ (PI0) & o1 faar grarfaa
2 gyl Fag @ Ridg Feel 1 ATAPR Al Sol T el Ml SHiad I ATD I FARRDT © 363 MR Jd D IEeiiRs 37a 3 Afga
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didtesal szl FewR @ arao: gamT ad =19, Ridaos 1998 @ saficfla afteren @ g & afBefr & g asa safyer s afteerd o5
ang; oy g anfefes gftdel o oo ozl 3 53 JgEl © wada o, i Jrg 8 giteal o 31z aoa o e enficblr udtemil & gia ai snea
e Fra sdl foe ste Teasie $Rar qist @ gffr Rene sie sard 3eens o, saan wsragel el wen srin 75 ganft ags wadu @ e maa
gtz & as 03l gitmgar o R sddla 330R @ IR 51T ARG # Jias 30 3 Al Yolel K Sl 3iagnn U1

Why PIOs got significant attention during the end of 1990s?

1990 & gers @ siat @ P10 e sisragy sam il e sr ?

[Question ID = 6409][Question Description = $3_qSNz_PG_PLS_Q100]

Emerging Indo-US economic cooperation /e A gea @ dfa wemr g0 anfie seder [Option 10 = 25099]
Indo-US Muclear civil deal /s - zes sufire e s [Option 1D = 25100]

Pokhbran-Il and American sanctions/dizzor - || dz s gitrse [Option 1D = 25101]

. India-America defence deal/smer - sty zum =ier [Option ID = 25102]

e B




